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               vii   Notes for teachers and lecturers

  This textbook has been written to provide a thorough introduction to financial accounting. It is especially suitable for students taking a degree in accounting (or any degree with a substantial element of accounting). However, anyone seeking to obtain a solid grounding in financial accounting will find this book suitable for their needs. This includes those studying financial accounting on courses at school or college; for qualifications from the Association of Accounting Technicians (AAT), the LCCI, or the Institute of Secretaries and Administrators; or the introductory financial accounting exams of any of the six UK and Irish Chartered Accountancy bodies. The financial accounting requirements for National Vocational Qualifications and Scottish Vocational Qualifications are also fully covered.

  The book has the following features:

        	Each chapter:


    
	starts with Learning objectives; 

	contains activities designed to broaden and reinforce students’ understanding of the concepts and techniques being covered;

	ends with Learning outcomes that can be mapped back to the learning objectives, reinforcing the major topics and concepts covered in the chapter; 

	contains answers to all the activities, immediately after the learning outcomes.



            
	There is an alphabetical Glossary of all the significant accounting terms used. Each entry is referenced back to the chapter in which it appeared.

	Five sets of 20 multiple-choice questions are positioned throughout the book at the point at which they may be attempted, rather than as one set at the end of the book. All the answers are at the back of the book, in Appendix 3.

	At the end of Part 5 (Controls, checks and errors), there are some scenario questions that are designed to reinforce learning of various aspects of the first 25 chapters.

	A set of notes for students appears at the start of the book. This covers how to use the book, how to tackle the end-of-chapter review questions and how to prepare for and sit introductory financial accounting exams. It should ideally be read by students before they start working through the main text.

	
Bold is used at various points in the text to enhance readability and to bring out key points.







            Teaching the double entry system


There are, of course, different ways to teach double entry bookkeeping. Each has its merits and drawbacks. In response to the comments of reviewers of the book, this edition marks a return to the approach that was a feature of Frank Wood’s Business Accounting in its first 12 editions: if the impact of a transaction is an increase in an asset or an expense, the relevant asset or expense account must be debited. If the impact is an increase in income, liabilities or capital, the relevant income, liability or capital account must be credited.


Accordingly, the first nine chapters have been substantially revised to incorporate this change in approach. However, the essential structure and content of the first nine chapters remains exactly the same. Teachers and lecturers who are already familiar with the book will have no difficulty in matching these nine chapters alongside their existing teaching materials.


We hope that you will find this return to the traditional ‘Frank Wood’ approach helpful for teaching bookkeeping. Please let us know your views on it, and those of your students.





               viii   Financial accounting terminology

  We recognise that most students using this book won’t have studied accounting before, so we’ve tried to write in a readable and accessible style, minimising the use of jargon. At the same time, students obviously do need to become familiar with various accounting terms. One obstacle for new students is, of course, that there are often two or more terms for the same thing: the sales ledger control account and the receivables control account, for example. Whenever this applies, we’ve tried to make a reasoned judgement about which term is the most appropriate to use.          

  The decision over whether to use Statement of Profit or Loss/Statement of Financial Position or Income Statement/Balance Sheet is a close call. There are good arguments on both sides. Of course, SPL and SFP are used throughout IFRS. On the other hand, income statement and balance sheet are more commonly used in real life. Business news on TV or online will, of course, always use balance sheet. Students clearly need to become familiar with both sets of terms. We’ve received reviewer feedback in both directions too. In conclusion, we’ve made the decision to continue to primarily use income statement and balance sheet in this book. Ultimately, it is a cosmetic issue which doesn’t affect students’ real understanding of financial accounting.





              Other changes to this edition

  Several changes have been made to this textbook since the last edition, with the aim of enhancing its suitability and usefulness:

    
	Part 3 and Part 4 of the book have switched places in this edition:
	Part 4 Adjustments before preparing financial statements is now Part 3.

	Part 3 Books of original entry is now Part 4.





	Part 10 Accounting today has been moved online.

	Chapter 17 Maths for accounting has been moved online.

	Chapter 30 Joint ventures has been moved online.

	Chapter 12 Cash books and Chapter 13 The analytical petty cash book and the imprest system have been merged into one chapter (now Chapter 18 The cash book and the petty cash book).

	The Accruals and prepayments chapter has been rewritten to make the ‘reversal’ approach the primary method. This is mainly because almost all accounting software uses the ‘reversal’ approach, so it’s the one that students will encounter in real life. The traditional, manual bookkeeping approach is still included in the chapter, as an alternative to the reversal method.

	The chapters that were in Part 3 (which is now Part 4 Books of original entry) have been substantially rewritten, primarily to make them more consistent with accounting software. For example, computerisation obviously means that physical books no longer exist; detailed coverage of two- and three-column cash book formats is no longer needed. Some professional accountancy bodies have dropped books of original entry from their syllabuses altogether. It would perhaps be premature to omit them completely from this edition, but they certainly merit modernised and more concise coverage.

	The first four chapters in Part 5 Controls, checks and errors have also been substantially rewritten. Again, the primary goal is to achieve greater consistency with accounting in real life. For example, the fact that control accounts for receivables and payables are included within the nominal ledger and form part of the double entry system. Or that accounting software won’t allow imbalanced entries to be made, so the chapters on bookkeeping errors reflect how suspense accounts are rarely used to force the Trial Balance (TB) to agree. Instead, they are mainly used to temporarily hold transactions which the software can’t identify automatically.

	The content of Chapter 38 Accounting ratios and Chapter 39 Analysis and interpretation of financial statements have been merged into one newly written chapter: Chapter 35 Ratio analysis and the interpretation of financial statements. This has been done to improve the coherence of the coverage of this essential topic. Moreover, the emphasis is now on the interpretation of company (rather than sole trader) financial statements. Shareholder ratios are given more attention than before, and some new ratios (such as interest cover and net asset turnover) have also been introduced.

	In total, 19 chapters have been substantially rewritten, as outlined at various points above. Each one of these revised chapters includes a significantly increased number of new activities that students can use to regularly test their understanding of what they’ve just read.

	There have been a few other, minor changes to chapter titles, and to the names of the nine parts, in the interests of maximising clarity.

	In response to reviewer comments, the term sole proprietor has been changed to sole trader, and the expression to buy (or sell) ‘on time’ has reverted to buying or selling ‘on credit terms’.

	There are over 100 completely new end-of-chapter Review Questions in this edition.

	Over 50 of the 100 multiple-choice questions in this edition are also new.

	The text is fully compliant with International GAAP.



   ix   We hope that you find these changes helpful and appropriate. The fundamental structure of the book, as well as the core content of each chapter, remains similar to previous editions. Teachers and lecturers who are already familiar with this text should therefore have no difficulty in matching the updated content with any existing teaching materials that they use. 

  We welcome any comments on this edition and on any other changes you feel ought to be made in future editions. You can contact us by email at lewiswg44@gmail.com and alan.j.a.sangster@gmail.com.

  Finally, we would like to thank all those teachers and lecturers who have offered comments, help and advice in relation to this textbook.

  Lewis Gordon and Alan Sangster





            A further note to lecturers and tutors


This text is supported by its own MyLab Accounting (purchased separately), a resource that gives unlimited opportunities for practice using a range of questions, and which provides timely feedback. Updates to MyLab Accounting for the 16th edition include the introduction of additional questions and problems to increase the variety, bringing the total number of questions to nearly 800. This includes a new set of exercises where students need to apply their knowledge from across a few book chapters. These changes have been made in response to feedback from lecturers using this MyLab. 


As a further resource, there are now 7 short videos included that use animations to explain essential accounting concepts. Closed captions are provided, and lecturers can assign exercises that test students’ understanding with a problem that follows on from the video and applies the principles of the video. There are also useful self-study tools, such as suggestions for students of the next topics to focus on (in the Study Plan area), enhanced features in the etextbook such as read-along audio and improved note-taking, and help to learn key terms using flash cards. 


For access to MyLab Accounting, students need a course ID. For more information, please ask your Pearson representative or visit our website: https://www.pearson.com/en-gb/higher-education/products-services/mylab.html





               x   Notes for students

  This book covers all of the most commonly examined financial accounting topics at the introductory level. But to perform well in your exam, there are two key things that you’ll need to do beyond simply reading and understanding the contents of each chapter. These are: 

        
	make question practice a central focus of your study time; and

	develop an efficient exam technique.



  We’ll explore both of these in more detail below.





            Practice as many end-of-chapter review questions as you can


At the end of each chapter, there is a set of review questions. It’s essential that you attempt plenty of these to test how well you understand the material and to apply what you’ve learnt. If you just read the chapters without attempting any questions, you won’t pass your exam. 


At the introductory level, financial accounting is quite a technical, practical subject. If you don’t practice questions, it would be like learning to play golf simply by reading a golf book, without ever swinging a club! There’s no substitute for attempting questions, in full, and then checking your answers carefully against the solutions given in the back of the book.





            The vital importance of question practice


It’s worth emphasising the importance of question practice by considering four reasons why it’s so valuable.

      
	You may think you understand something, but when you try to answer a question, you might realise that you don’t. There’s a big difference between understanding and doing. For example, you might read about a top tennis player’s technique and understand how they hit their forehand, but that doesn’t mean you could do it in practice.

	In financial accounting, there are various statements that need to be presented in a certain format: the income statement and the balance sheet, for example. These formats are important, and you’ll lose marks if you don’t reproduce them accurately in your exam. It’s unrealistic to think you can simply ‘memorise’ the formats. The best (and probably only) way that they’ll properly sink in is with repeated question practice.

	Your ultimate goal is to answer questions within a time limit. Accounting exams can be quite time pressured. Students who understand the material can fail because they run out of time. The only way to get up to speed is with practice. As your exam approaches, practising questions using a timer on your phone is a very good idea.

	Speed alone isn’t enough either. You’ll want your exam answers to be correct, but they’ll also need to be organised, clear and legible. Otherwise, the marker won’t be able to follow what you’ve written and you won’t score high marks. The only way to get good at producing organised, clear, legible answers is with practice.







              The review questions in this book

  As a general rule, the questions at the end of each chapter tend to start with the easier ones and then get gradually more difficult. This mix should help you first get to grips with the basic concepts of the chapter, and then prepare you for any twists and variations that you might encounter in an exam.

   xi   In the back of the book, you’ll find answers to roughly half the review questions. The answers to the others (indicated by the letter ‘A’ after the question number) are only available via your teacher or lecturer. But even if you are studying this subject on your own, and can’t access the answers to the ‘A’ questions, there are still more than enough answers in the back of the book to ensure that you can prepare thoroughly for any introductory financial accounting exam.





            Exam preparation and technique


By the time you sit your first financial accounting exam, you’ll have (hopefully) invested a lot of time in trying to master things like double entry, balance sheets and bank reconciliations. Compared with the many hours spent learning the subject, many students give surprisingly little thought to exam technique. Most people use the word "revision" to describe the process of preparing for an exam, as if it was simply a case of re-viewing the material they had originally learnt.


However, your exam will be a test of how effective you are at answering several financial accounting questions under pressure. It will be important to understand the syllabus material, but many other skills will be important too, such as:

  
	how carefully you read and understand the exam instructions;

	how fast you can write (or type);

	how legible your handwriting is;

	how well you allocate your time during the exam; and

	how good you are at staying calm and performing under pressure.




If you don’t give any thought to these other skills, you might still underperform in your exam, even if you’ve done many hours of revision. In the next few sections, we’ll offer some advice about preparing for, and performing in, your exam more effectively. 





              Before your exam

  Make a revision timetable

  Several weeks before the day of the exam, you should create your own revision timetable. Doing this is an opportunity to step back and consider your course syllabus, identify what you need to learn and practice, and plan how you can cover it all during the revision period. It’s likely you’ll be preparing for more than one exam, so your timetable will need to reflect this. You should work backwards from the dates of your exams, making sure you allocate appropriate time to each one.

  As part of making your revision plan, you should think about things like:

        
	Where do you revise best? Some people can concentrate fine at home; others focus better in a library, for example.

	What time of day do you study most effectively? Some students are at their most alert in the mornings; others are better later in the day.



  Writing a revision timetable is one thing, but sticking to it is another! Just getting your revision started can be particularly difficult. If you wait until you feel like starting to revise, it’ll probably be far too late. You just have to start, even though you won’t feel like it. Action comes before motivation. Once you’ve started, revising will become more of a routine and will become less painful! 

   xii   You should plan to revise in chunks of (say) 30‒45 minutes, with a short break in between each one. There is plenty of evidence that revising for long stretches without any breaks is ineffective. Use a timer on your phone to help establish a good study routine.





            Make sure your revision is active, not passive


Passive revision involves things like reading a textbook or watching a video about financial accounting. Active revision would include things like:

  
	practising questions;

	making your own summary notes, or your own flash cards; and

	making voice recordings of key syllabus points that you could listen to later.




Active revision has been proven to be a far more effective way of learning, and therefore a much better use of your revision time.





            Minimise distractions while revising


Focusing on revision can be difficult, and nowadays there are more distractions than ever. Put your phone on silent and mute all notifications. Even better, there are various apps that can help you block distractions, and trying one of these might be a very good idea.





            If your exam will involve pen and paper, do some of your revision that way too


Many students do much of their work on laptops nowadays, and rarely use pen and paper. Computer-based exams are becoming much more common these days too. But if yours will be a ‘traditional’ exam, requiring handwritten answers in an exam hall, it’s important to do some practice that way too. People are just not used to writing quickly and legibly for two or three hours anymore. 





            Avoid last-minute cramming!


If you write a sensible revision timetable and stick to it, there should be no need for huge amounts of revision the night before. Some students damage their chances by revising well past midnight on the eve of an exam. Everyone knows how a lack of sleep can adversely affect performance, so your priority should be an early night and a good rest.


On the morning of your exam, you definitely shouldn’t scramble your brain with panicky revision over breakfast, or on the bus to the venue. If the exam is in the afternoon, a little light revision in the morning might perhaps help keep your nerves under control. But, as a general rule, revising on the day of an exam is ineffective. The human brain needs a night’s sleep to properly process and digest what it has learnt.





              Arrive at the exam venue in good time

  It might sound obvious, but it’s a good idea to plan in advance how you’ll get to the exam room, and what time you’ll need to set off. Every year, a few students needlessly fail exams because they arrive late, or they misread their exam timetable and don’t arrive at all.

  It’s vital to check and double check the date, time and venue of your exam in advance. And allow plenty of time to get there, just in case your train is late, or the traffic is bad. It’s much better to be 30 minutes early than to arrive in a last-minute panic. Make sure you know in advance exactly where the exam hall is.

   xiii   Create a checklist of the things you need to take. It’s incredible how many students forget to bring a calculator to their accounting exam! Most colleges and universities will also require you to bring some form of ID, usually your student card.

  You should even have a quick think about what you’re going to wear. You never know if the exam room will be too hot or too cold, so it’s usually wise to wear a couple of layers that you can adjust accordingly.





            Managing exam nerves


It’s normal to feel nervous about exams. It’s also well-known that a certain degree of nervousness and adrenaline can boost performance. A healthy amount of nerves will help increase your alertness and concentration, which are positive things.


But unfortunately, some students suffer with excessive anxiety, to the extent that they perform poorly, and can barely cope with exams at all. If this applies to you, we can’t offer a magic solution. However, you should definitely seek advice before your next set of exams. Suffering badly with exam nerves isn’t unusual, and is certainly nothing to be ashamed of. Speak to a trusted teacher or adviser at your college or university, talk to friends and family, or seek reputable online advice.


Sometimes colleges and universities can modify your exam arrangements so that they become slightly less stressful. Either way, part of your exam preparation should include trying to put some strategies in place in advance that will help you manage your nerves. 





            During the exam





            Read the exam instructions and do what they say


You should already be familiar with what instructions to expect before you get to the exam room, but you should still read them carefully and check there are no surprises. The instructions (or ‘rubric’) are usually on the front of the question paper, and might say something like:


‘Answer five questions: three from Section A and two from Section B.’


Again, you’d be amazed at the number of students who don’t follow the rubric. For example, if the instructions were as shown above, one student might answer two questions from Section A and three from Section B. If so, the examiner will mark that student’s two Section A answers and their first two Section B answers. They won’t read the third answer for Section B. This student will only get marks for four answers, not five.


In other words, examiners won’t mark extra answers. You might have spare time at the end of an exam and want to attempt an extra question, thinking it might get you a better mark than one you’ve already attempted. But, if you do, make sure you delete the answer that you don’t want marked. Cross it out, and write ‘Do not mark’. Otherwise, the examiner will simply mark your answers in the order you’ve attempted them, and will ignore your new, extra answer at the end.





            Manage your time during the exam


The biggest thing that most students could do to improve their marks is to plan and manage their time better during every exam. Most exams last two or three hours: 120 or 180 minutes. Minutes are your precious resource. The students who score the most ‘marks per minute’ will logically achieve the highest marks overall. As well as answering questions correctly, doing well in exams is about making the most of the minutes you have available. How can you make the most of your time during an exam? We’ll offer some advice over the next few paragraphs. 





               xiv   Spend the right amount of time on each question

  The marks allocated to each question indicate how long you should spend on it. Let’s say your exam is 2 hours (120 minutes). If there are 100 marks in total, that equates to 1.2 minutes per mark (120 minutes/100 marks). A 5-mark question should take about 6 minutes (5 x 1.2); a 20-mark question needs roughly 24 minutes (20 x 1.2); and so on.

  Before you arrive at the exam, you should be familiar with the format of your paper, so you’ll have planned in advance how long you should be spending on different questions.

  Sometimes a long question will be in parts, and the marks available for each part are shown. For example, Question 1 might be 25 marks, with 17 for part (a) and 8 for part (b). If it’s a 2-hour exam, you’ll know that you should allocate about 20 minutes on part (a) and no more than 10 on part (b).

  Many students are resistant to the idea of allocating their time in proportion to the marks available. But it really is the best way to maximise your marks per minute. On any question, it’s usually fairly straightforward to get the first few marks. It then gets progressively harder. Producing a perfect answer, for maximum marks, is tough, and will probably take too long. The most efficient use of your time is to spend roughly the right number of minutes on each question, enabling you to pick up all the straightforward marks across the entire exam paper.

  It's possible that you might start a question, thinking that it looks easy. You might subsequently realise that it’s harder than you expected, and get stuck. The best thing to do in this situation is to leave space in your answer booklet and go back to it later. Don’t get bogged down struggling for difficult marks when there should be plenty of easier ones available in the rest of the paper. Finally, it can also be a good idea to allocate five minutes at the end for going over your answers and checking for any obvious, silly mistakes.





            If possible, do the easiest questions first


It’s logical to tackle the easiest question first, then the next-easiest, and so on. This is sensible because it allows you to get marks on the board straight away. It will also settle you down, giving you a degree of confidence that will help you when you get to the more difficult ones later.


In contrast, if you attempt a long, difficult question first, you might get bogged down, lose confidence, and your head might drop.





            Attempt every required question


Answer every question that you are required to do. If you’re asked to answer four questions, don’t just do three. Every year, a few students decide that it’s a good strategy to only answer (say) three questions instead of four. Suppose each question is for 25 marks: if so, answering just three will cap that candidate’s mark at a maximum of 75. Given that (as we explained earlier) it’s very difficult to score maximum marks on a question, that student will almost certainly end up with a poor overall mark.


A significant proportion of the students who fail any exam is always made up of the ones who didn’t answer enough questions.


Some of those students might argue that they didn’t answer enough questions ‘by accident’, because they spent too long on their earlier answers and ran out of time. This just reinforces our earlier advice of why it’s so important to allocate your time to each question in proportion to the marks available. You must develop the discipline to move on to the next question when the allotted time is up.


Others might say that they didn’t answer enough questions because they guessed what topics were going to be on the exam paper and they guessed wrong. Guessing what topics will appear on an upcoming exam (‘question spotting’) is a very risky approach. It’s true that you might occasionally receive some clues in advance from the examiner, or there might be some clear patterns from past papers. It’s reasonable to take these into account. However, the risks of completely ignoring big chunks of the syllabus are obvious.





               xv   Don’t give up on a question that has multiple parts

  Sometimes a long question might be broken up into three parts, (a), (b) and (c). Some candidates will make a mess of part (a), lose all confidence, and won’t bother attempting (b) or (c). This makes no sense. Just because you’ve done badly in part (a) doesn’t mean you can’t pick up some marks for (b) and (c). There are usually a few relatively straightforward marks on offer for each part of a question.





            If a question is ambiguous, state your assumptions


Examiners are only human and occasionally they make mistakes. If the wording of a particular question is unclear, it’s important to state what you have understood it to mean. If the wording of the question is ambiguous, and your stated interpretation/assumption is reasonable, then you’ll be eligible for full credit for your answer.





            Put yourself in the shoes of the person who will mark your exam


A human being will mark your answers: perhaps a tired, grumpy, middle-aged person. It will help if your answers are clear and readable. The easier you make it for the marker to follow your answers, the more likely they are to give you credit. If you want to pass, it makes sense to try to make life easier for the person who will mark your script.





            Towards the end of your exam


It’s a good idea to allocate a few minutes towards the end of your exam to do some important checks.

  
	Make sure you’ve answered the required number of questions.

	Go back to any questions (or parts of questions) that you couldn’t answer; often, looking at a question afresh, you’ll think of something that can pick up a mark or two.

	Read through your answers, checking for any mistakes.







            Some advice on answering numerical questions


A large chunk of any introductory financial accounting exam will require you to do quite a bit of numerical work: drawing up ledger accounts, or preparing a balance sheet, for example. To do well, we’ve already emphasised the importance of question practice. We’ve also mentioned that your answers will need to be organised and clear, so that they’re easy for the examiner to mark.


In addition, there are a few other points to highlight that specifically relate to numerical questions. We’ll discuss these below.





            Read the requirement first


With numerical questions, it’s often a good idea to read the requirement first, before reading the whole question. It makes sense to know what you’re required to do, and therefore what sort of information you’ll need, before you start reading the question in full.





            Show your answer in the same units as they are presented in the question


Sometimes, for example, you’ll be given a trial balance with the numbers given in £’000. If you decide to present your answer in £, or in £m, this will inevitably increase the risk that you could make a mistake. If the numbers in the question are given in £’000, it’s much safer to show your answer in £’000, and so on.





               xvi   Show all your workings

  If one of your answers is wrong but you show your working, the examiner will nearly always be able to award some marks. But if an answer is wrong and there is no working then you’ll get zero for it.

  For example, suppose rent paid this year was £1,600, but £300 of this was a payment in advance for next year (a ‘prepayment’). The true rent cost for this year is therefore £1,300, and the easiest way to show this on an income statement is probably:

  



	Rent (1,600 – 300)

	£1,300







  Many candidates will think that this calculation is so straightforward that there is no need to show any working at all. But some might give an answer of £1,900, because they’ll add the advance element of the payment instead of subtracting it. If they showed a working, they’d at least get some credit for using some of the data (£1,600) correctly. If there is no working, they’ll get zero.

  Another candidate might write £13,000 instead of £1,300. Again, without a working, it’s impossible for the examiner to award any marks, even though it’s fairly obvious that the candidate has just made a silly mistake. 

  Showing your workings is always a good idea. We all make mistakes under exam pressure. Showing your workings can only boost your chances of maximising your marks for numerical questions.





            Don’t panic if your balance sheet doesn’t balance


Students often ask: ‘What should I do if my balance sheet doesn’t balance?’. The answer is: leave it alone and get on with answering the rest of the exam paper.


The main reason is (once again) the importance of sticking to the correct time allocation per question. You could spend 20 minutes looking for the mistake. Finding and fixing it will probably gain you one or two marks. Instead, if you had moved on to the next question, you would probably have gained a lot more than two marks in those 20 minutes.


Even worse, you might not find your error in 20 minutes. Then you’ll be even more worried and flustered, increasing the chances of making more mistakes in your next answer.


In any case, it’s perfectly possible to get (say) 22 marks out of 25 for a balance sheet that doesn’t balance. It’s normal for examiners to include some difficult marks on a question in order to identify the very strongest students. You don’t need a perfect answer to get an excellent mark. Only once you’ve attempted all the other required questions does it become a good idea to go back over your answers and check for mistakes.





            Some advice on answering written (or ‘discursive’) questions


Some students wrongly expect financial accounting to be a purely numerical subject. They might choose accounting because they strongly prefer numbers to written work. This may be one of the reasons why the written parts of financial accounting questions are often answered poorly. We offer some advice on written answers below.





               xvii   Underline or highlight key words in the requirement

  Suppose the following question is on your exam paper:

  	Explain the term ‘depreciation’ in financial accounting. Identify, and briefly describe, two acceptable methods of charging depreciation on non-current assets.





  You’ve essentially been asked to do three things: explain the term, identify two methods, and describe those methods. But in an exam, it’s common for candidates to only do one or two of these things at best. Many will read the question in a rush, and then start writing whatever they know about depreciation, regardless of the requirement.

  To avoid this problem, it’s best to read the requirement carefully and underline or highlight the key words. Pause, and think about how you will fulfil all the requirements before you start writing.

  While you’re answering the question, look back at the requirement and make sure you’re answering the question that has been set. Anything you write that doesn’t help answer the requirement cannot gain you any marks.

  Not only is it crucial to give the examiner exactly what they’ve asked for, it must also be in the format they want. For example, if a question asks you to ‘Draft a letter…’ then your answer should be in a letter format, otherwise you’ll lose marks.





            Make sure to practice the discursive parts of questions


Many students will think that they know what depreciation is, so they’ll believe they can answer the example question given above without the need for practice.


However, if you’ve never done it before, it can be quite tricky to put these things into words. It takes practice to be able to explain things properly. A candidate may indeed understand what depreciation is. But, without practice, their ‘explanation’ could still end up being garbled and confused. Remember that your job is to persuade the examiner that you really do understand. Muddled and rambling answers won’t convince anyone.


Some students only ever practice the numerical parts of questions, and just assume they will be good at answering the written bits. This is another reason why written parts of questions are often so poorly answered.





            Don’t copy out the question


For some strange reason, several students will literally write out the question in their answer booklet before answering it. This is a waste of valuable minutes and cannot gain marks.





            Write in full sentences (unless you’re running out of time)


Unless the question states otherwise, it’s always best to write your answers in full sentences. Writing full sentences that directly answer the question demonstrates that you really understand what you are writing about, and haven’t just memorised a series of bullet points.


However, towards the end of the exam, you may find yourself with a question that you could answer properly but you’re running out of time. In this situation, it’s okay to write something like ‘OUT OF TIME’ and then put down what you know in note form, such as bullet points. This should at least gain you some marks.





               xviii   After the exam

  When your exam is finished, there’s no point dwelling on your performance, trying to work out how many marks you might’ve scored, or talking with fellow students about how they answered a particular question. Doing so is a complete waste of time and mental energy. It serves no purpose. What’s done cannot be undone. It’s likely you’ll have another exam in a few days’ time, so you should focus exclusively on preparing for that one.

  Alternatively, if it was your last exam, you should relax and just try to forget about your marks until the results are published.





            Summary


Remember:

      
	Prepare a revision timetable and stick to it.

	Read the exam instructions and follow them.

	Plan your time in the exam, allocating it in proportion to the marks available.

	When your time allocation for a question is up, move on.

	Answer the easier questions first.

	Show all your workings.

	Don’t miss out on ‘easy’ marks, such as including headings and dates in your answer where relevant.

	Answer the number of questions you are required to. Extra answers will not be marked, whilst candidates who don’t answer enough questions nearly always do badly.

	Highlight the key words in the requirement of each question to help ensure that you answer exactly what has been asked.

	Make life easier for the marker by producing answers that are clear, organised and legible.




Good luck with all your financial accounting exams. We hope you get the rewards you deserve.


Lewis and Alan





               xix   Publisher’s acknowledgements

  To the memory of Frank Wood, who, in 1967, had a vision that changed the way accounting textbooks presented this subject, forever.





            Part 1


INTRODUCING  FINANCIAL ACCOUNTING  AND THE DOUBLE ENTRY SYSTEM 





               1   Introduction

  In these first six chapters, we’ll explain what financial accounting is and why it’s so important. In order to produce high-quality financial information about a business, it’s essential to keep an accurate record of all its activities. We’ll therefore look at the basic principles of how business transactions are recorded, known as the double entry system of bookkeeping.
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              Chapter 1

  Introducing financial accounting and the balance sheet

   3    

 Learning objectives

 After you have studied this chapter, you should be able to:

   
	Describe what accounting is.

	Explain what financial accounting is, and the main differences between it and management accounting.

	Identify the main users of financial accounting information and why they need it.

	Explain why it is so important that professional accountants maintain the highest standards of ethics and integrity.

	Specify and explain the accounting equation.

	Explain the relationship between the accounting equation and the balance sheet.

	Draw up a balance sheet for a very simple, new business.

	Explain the meaning of the terms asset, liability, capital, inventory, receivables and payables.



  






            Introduction


In this chapter, we’ll explain what accounting is, and we’ll see that it has two main branches: financial accounting and management accounting. This book is concerned with financial accounting. We’ll look at the range of users of financial accounting reports. All these users need to have confidence in the reliability of the information, which is one of the main reasons why accountants have a duty to always act with honesty and integrity. We’ll then introduce the two fundamental financial statements that are at the core of financial accounting. One of these statements (the balance sheet) is based on a simple equation, and we’ll see some examples of how that equation works.





              1.1 The importance of accounting

  A business could barely function without money. For example, how would it take payment from its customers? How would it pay its staff? And in any case, without money, why would a business exist in the first place? Normally, one of the main reasons to start a business is to make money.

   4   It follows that it’s vital for a business to keep track of its money, prepare regular reports to see how much money it’s making and produce other information to help people decide on the best ways to make more money in the future. In the simplest of terms, this is essentially what accounting does. And since money is so central to the function, purpose and existence of businesses, so is accounting.

  A more formal definition of accounting is that it is the process of recording and measuring business activities, converting the data that have been collected into useful information and communicating that information to people who can then use it to help them make decisions.

  It’s the final part of the above definition that’s most important. The information produced by accountants needs to be useful in helping people make better decisions. This is the primary goal of accounting.

  However, to be able to produce good information, it’s essential that business activities are recorded and measured accurately in the first place. An introduction to financial accounting therefore needs to include thorough coverage of how a business’s activities are recorded. The recording process is known as bookkeeping. For hundreds of years, financial records were maintained by hand, in physical books. Nowadays, they are nearly always computerised, but we still use the term ‘bookkeeping’.

  So, in this book, we’ll look at how business transactions are recorded; the reports that financial accountants produce which summarise the data that have been collected; and we’ll start looking at how those reports can be analysed and understood.





              1.2 What are the main branches of accounting?

  Accounting can be split into two main branches: financial accounting and management accounting.

  Financial accounting focuses on reporting information about how the business as a whole performed last year. It therefore involves recording details of every transaction that occurs during the year and then summarising all those data in a set of financial statements. The financial statements report how well the business performed over the last 12 months, and the strength of its financial position at the end of the year.

  These financial statements are then used by people outside the business to assess its financial health. To help ensure that these users aren’t confused or misled, there are a lot of rules and regulations in financial accounting that aim to make sure that all businesses prepare their financial statements in the same way. The volume and complexity of these regulations is one of the main reasons why financial accounting is such a major subject.

  In contrast, rather than summarising how the whole business performed last year, management accounting involves producing a much wider variety of information. Management accounting reports often focus on one particular aspect or department of the business. Rather than producing reports annually, management accounting information is continually being prepared, throughout the year. And instead of always looking back, it often involves forecasting future performance. 

  Above all, management accounting information isn’t published to the outside world. It’s for internal use only, to help the business’s managers make better decisions. This means that there are no rules and regulations in management accounting. Because the reports are only used internally, they can be prepared and presented in whatever way the business thinks is most useful.

  Exhibit 1.1 summarises these differences.
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 Exhibit 1.1 Key differences between financial accounting and management accounting information

 




	

	FINANCIAL ACCOUNTING
	MANAGEMENT ACCOUNTING



	Who uses the reports?
	People outside the business (i.e. not the business’s managers)
	Internal users (i.e. the managers of the business)



	
How detailed are the reports?


	Quite summarised, covering the 
business as a whole


	Quite detailed; each one often focuses on a particular aspect or segment of the business





	How regularly are reports produced?
	Typically once a year
	Continually, throughout the year



	Do the reports have to comply with rules and regulations?
	Yes
	No



	Do the reports focus on the past or the future?
	The past: reports cover the business’s performance over the last year, and its position at the end of that year
	Both: reports can include past performance and/or forecasts of the future








  


   

 Activity 1.1

 Why does financial accounting focus on reporting what happened in the past? Surely people outside the business are also interested in how it expects to perform in the future?

  


  As well as financial and management accounting, there are several related, specialist fields. The three most obvious of these are auditing, tax and finance.

  Auditing is essentially the process of carrying out checks on a company’s annual financial statements before they are published. Independent accountants examine the company’s financial records and form an opinion over whether its financial statements present a true and fair picture of its performance and position. There are usually a lot of graduate job vacancies in audit every year, and many successful accountants begin their career as auditors. However, it would be impossible to study auditing without knowing the basics of financial accounting: how transactions are recorded and how financial statements are prepared.

  Tax is another area in which accountants can specialise. Tax accountants have a somewhat notorious reputation for helping businesses arrange their activities (within the bounds of the law) in order to minimise their tax bill. While this can be a controversial area, skilful tax accountants are always in demand. But until you know the core principles of financial accounting—such as how a business’s profits are calculated—you won’t be in any position to study tax.

  Finance is a very broad term and is a field in its own right, rather than being a specialist area of accounting. But in relation to accounting, finance is concerned with issues such as the different ways that businesses can be funded, the risks and returns of different types of investment and how the financial markets operate. Finance therefore covers a wide range of activities, but financial accounting reports play a key role in the world of finance.

   6   For example, it’s difficult to decide whether to invest in the shares of a particular company without a sound understanding of what its financial statements tell us about its performance and position. Qualified accountants can therefore be well placed to develop lucrative careers in finance thanks to their thorough grounding in financial accounting and financial statements.

  This book focuses on the fundamentals of financial accounting: how a business’s transactions are recorded and how they are summarised and presented at the end of the year in a set of financial statements. There is a wide range of well-paid careers in the world of accounting and finance, but all of them require a solid foundation in the fundamentals of financial accounting. This is what this book aims to provide.

  


              1.3 Why is financial accounting so important?

  We’ve established that this book focuses on the fundamentals of financial accounting: how transactions are recorded, and how all those data are then summarised and presented in a set of financial statements. Why is financial accounting so important? Why do qualified financial accountants generally earn excellent salaries? Why is accounting one of the world’s leading professions?

  The main reason is that many different groups in society use, and rely on, high-quality financial statements that present a fair picture of the financial health of businesses. Society therefore needs highly competent and knowledgeable financial accountants to produce these statements. It’s worth considering some of the main groups of people that use financial statements, and why those groups rely on the information that the statements provide. This is shown in Exhibit 1.2.

   

 Exhibit 1.2 Users of financial statements and their information needs

 



	User group
	Some reasons why they need the information in a business’s financial statements



	EXISTING & POTENTIAL INVESTORS
	Investors want to assess the business’s ability to provide returns on their investment as well as any risks associated with investing in that business.



	EXISTING & POTENTIAL LENDERS (SUCH AS BANKS)
	Lenders are interested in assessing the ability of the business to pay interest on a loan and its ability to repay the loan itself.



	SUPPLIERS
	Suppliers of goods and services to the business want to assess whether it may be in financial trouble and if it could therefore struggle to pay its bills on time.



	EMPLOYEES
	Employees of the business are interested in whether it is financially stable and hence whether their jobs are safe; and if the business is doing well, they may use this information to justify demands for a pay rise.



	COMPETITORS
	Competitors of the business are keen to compare how well they are doing relative to their rivals.



	CUSTOMERS
	Some of the business’s customers may sign some sort of contract with the business to buy its products over several years. If so, these customers want to check whether the business is financially sound and can be relied upon to fulfil the contract.



	GOVERNMENT
	The government is interested in how businesses across the country are performing because this is one of the key indicators of the country’s economic prospects.



	TAX AUTHORITIES
	The tax authorities require accurate financial statements to assist in determining the correct amount of tax that each business should pay.








  


   7   Note that the list in Exhibit 1.2 isn’t complete. The eight user groups shown may need information for other reasons too. There are also other user groups who are interested in financial statements that provide reliable information about businesses.

   

 Activity 1.2

 Which of the user groups in Exhibit 1.2 do you think are the most important, and why?

  


  One way to recognise the vital importance of financial statements is to imagine a world without them, or one where they were unreliable and misleading. Who would be prepared to invest money in a business if they couldn’t trust its financial statements? And banks would be extremely reluctant to lend money to any business if they couldn’t get reliable financial information that allowed them to assess whether it was able to repay the loan.

  Modern economies simply wouldn’t function properly without accurate financial information about businesses, the primary source of which is the annual financial statements. The success of businesses, communities and economies depends on the existence of high-quality financial information. Society therefore needs highly competent, professional accountants to help ensure the quality of financial statements.





              1.4 The vital importance of professional ethics for accountants

  As we explained in the previous section, the success of any economy is dependent on investors and lenders being able to trust the information that’s shown in the financial statements of businesses. A crucial factor in ensuring that financial statements are trusted is users having confidence in the honesty and integrity of the accountants who prepare them.

  Moreover, all work done by professionals—whether they be doctors, lawyers, dentists or accountants—needs to be trusted by society at large. Professionals are expected to be highly competent and entirely honest; they need to be trusted to keep confidential information private, and they certainly shouldn’t make use of it for personal gain. No society will function properly if trust in professionals breaks down.

  It’s therefore essential that professional accountants demonstrate their commitment to always act in an honest and ethical manner by having a code that sets out how they should behave in all aspects of their work. Even more importantly, it’s crucial that they adhere to that code, and that there is appropriate punishment for any who don’t.

   8   In many countries around the world, this code is based on the Code of Ethics for Professional Accountants produced by the International Federation of Accountants (IFAC). IFAC is the world umbrella organisation for professional accountancy bodies. The IFAC code explains that accountants must comply with five fundamental principles, summarised in Exhibit 1.3.

   

 Exhibit 1.3 The five principles of the IFAC Code of Ethics for Professional Accountants

 



	Principle
	Meaning



	1. INTEGRITY
	Being straightforward and honest in all professional and business relationships.



	2. OBJECTIVITY
	Not allowing bias, conflict of interest or undue influence of others to override professional or business judgements.



	3. PROFESSIONAL COMPETENCE & DUE CARE
	Maintaining knowledge and skills at the level required to ensure that they provide competent professional services, in accordance with current developments in practice, legislation and techniques.



	4. CONFIDENTIALITY
	Respecting the confidentiality of information acquired as a result of professional and business relationships and not using the information for personal gain, nor disclosing any such information to anyone else without proper authority.



	5. PROFESSIONAL BEHAVIOUR
	Complying with relevant laws and regulations, and avoiding any actions that discredit the profession.








  


  The importance of the five principles in Exhibit 1.3 becomes rather obvious if you imagine a society in which accountants didn’t act in accordance with them: if accountants were dishonest, biased and incompetent, if they revealed confidential financial information and if they broke the law. In such a society, no-one would trust accountants or any of the work that they did. The profession would soon die out.

   

 Activity 1.3

 Which of the five fundamental principles in Exhibit 1.3 do you think will be especially relevant to accountants who prepare the annual financial statements of businesses?

  


  An obvious example of unethical behaviour would be if an accountant was involved in deliberately manipulating some figures in the financial statements to make a business seem more profitable than it actually was, perhaps to attract new investors. This sort of dishonesty could be financially disastrous for anyone who, on the basis of false information, decided to invest in that business. Moreover, high-profile accounting scandals (such as when a company’s figures are found to have been artificially manipulated) raise questions over the reliability of all financial statements, damage the profession, and have an adverse impact on the economy as a whole.

  Since this book is an introduction to financial accounting, we won’t be examining real-life accounting scandals in detail. However, we’ll certainly see several areas where judgement and estimates are required. For example, deciding whether an old debt due from a customer is likely to be collected; or how to value goods held for resale that have gone out of fashion and might be difficult to offload.

   9   Areas that require judgement always carry the risk that they could be deliberately manipulated to present financial statements in a favourable light. It’s vital that accountants adhere to their principles of integrity and objectivity, and act to prevent such manipulation from occurring.

   

 Activity 1.4

 The code of ethics described in Exhibit 1.3 is based on a set of principles, rather than detailed rules to follow in every situation. Can you think of any advantages or disadvantages of a principles-based system, as opposed to detailed rules?

  


  In real life, there are a wide range of situations that can pose ethical problems for accountants. It’s too early in your studies to look at many examples of them. However, the importance of ethical standards is so vital for the profession that it’s important to emphasise them from the outset. 

   

 Activity 1.5

 We haven’t studied enough accounting yet to be able to describe the wide range of situations in which a professional accountant could face an ethical dilemma. However, for someone studying accounting at college or university, can you suggest any ethical dilemmas that could arise?

  






              1.5 What are the two fundamental financial statements?

  Having established the importance of businesses being able to produce high-quality financial statements each year, the obvious next step is to identify what those financial statements are.

  There are actually more than two main (or ‘primary’) financial statements, and we’ll see all of them in this book. But we’ll start by focusing on the two most fundamental. They are: 

    
	the income statement; and

	the balance sheet.



  The income statement tells us how much revenue the business earned in the last year minus the total expenses it incurred in earning that income. It therefore reports how well the business performed last year. Was the income it earned greater than its running costs? In other words, did it make a profit?

  The income statement is also known as the statement of profit or loss. Both names refer to exactly the same thing and it’s good to be familiar with both. However, most UK businesses use the term income statement so, for consistency, that’s the one we’ll use throughout this book.

  The balance sheet gives us information about the business’s financial situation on the final day of the most recent year. It lists all the things that the business owned (its assets) minus all the amounts it owed to other people and businesses (its liabilities).

  Theoretically, if the owners of the business decided to close it down, they would first use its assets to pay off all the liabilities. The owners could then walk away with whatever assets were left. In other words, the total assets of a business minus all its liabilities is a measure of the owner’s stake, on paper, in their business. We call this the owner’s capital. 

  The balance sheet is also known as the statement of financial position. Both names refer to exactly the same thing and it’s good to be familiar with both. However, most real businesses use the term balance sheet so, for consistency, that’s the one we’ll adopt throughout this book. 

   10   Exhibit 1.4 summarises the two fundamental financial statements.

   

 Exhibit 1.4 The two fundamental financial statements

  
[image: Two flowcharts show the two fundamental financial statements.]

 Flowchart 1: The first text box on the top reads 'Income Statement'. It leads to the second text box that reads 'Also known as the Statement of Profit or loss'. It further leads to the third text box that reads 'shows colon'. It further leads to 'income earned during the year minus expenses incurred during the year equals profit (or loss) for the year'.

Flowchart 2: The first text box on the top reads 'Balance sheet'. It leads to the second text box that reads 'Also known as the Statement of financial position'. It further leads to the third text box that reads 'shows colon'. It further leads to 'Assets (things that the business owned at the end of the year) minus liabilities (amounts that the business owed at the end of the year) equals the owner's capital at the end of the year'.


  


   

 Activity 1.6

 If the balance sheet shows everything that the business owns, minus everything that it owes to others, does that mean that a balance sheet shows the current value of a business?

  






              1.6 The three main ways that a business can be owned

  The presentation of certain aspects of financial statements will differ depending on how the business is owned. So before we start looking at the financial statements, it’s worth being aware of the three main forms of business ownership:

    
	limited companies

	partnerships

	sole traders.



   11   A limited company is the most common form of business ownership. It’s where the owners set up a separate legal entity (the ‘company’) and own shares in that company. We’ll look at accounting for companies in Part 8 of this book.

  A partnership is where two or more people decide to share ownership of their business, without the legal complications of setting up a company to do so. The small firm of accountants on your local high street, or your doctor’s practice, are probably partnerships. We’ll look at accounting for partnerships in Part 7 of the book.

  Sole trader are simply individuals who are the sole owners of their business, without the complications of setting up as a company. They’re also sometimes known as sole proprietors. Examples might include a market trader, yoga teacher or personal trainer. Note that the term means that one person alone owns the business; sole traders can still employ people to help them run it, if they need to.

  Sole traders are the simplest form of business ownership, so it makes sense to begin studying accounting with them. Of course, when you finish studying, you’re far more likely to work for a company than a sole trader, but that doesn’t matter. The fundamentals of accounting remain the same whether a business is a company, partnership or a sole trader. It’s just much easier to master the basics if we start with sole traders.

   

 Activity 1.7

 As well as the three main forms of business (sole trader, partnership and company), will organisations that aren’t businesses need accountants too?

  






              1.7 The balance sheet and the accounting equation

  The best place to start understanding financial statements is with the balance sheet. As we explained, the balance sheet shows, at a particular date, the business’s assets, its liabilities and its capital. The balance sheet is underpinned by one simple equation. In its basic form, the accounting equation states:

   

 ASSETS - LIABILITIES = CAPITAL

  


  Remember that:

    
	
Assets are essentially the things that the business owns (such as its vehicles and equipment, cash in its bank account, or its stock of goods which it plans to sell to customers).

	
Liabilities are the amounts that the business owes to other people or to other businesses (for example, it may owe suppliers for goods and services it has recently bought, or it may owe an amount to a bank if it has borrowed money).

	
Capital is a measure of the owner’s stake in their business.



  For any business, the accounting equation must always be in balance. In theory, at any time, the owner could decide to close it down. They would use the business’s assets to pay all its liabilities, and whatever assets were left would then belong to the owner. This is why the total of all the business’s assets minus all its liabilities is a theoretical measure of the owner’s stake in their business. 

  In practice, there would be problems with the logic above. Most obviously, it’s unknown how much the owner would get if they suddenly decided to sell the assets in order to pay the liabilities. But the idea makes sense in principle: once all the business’s liabilities are paid, whatever assets are left would belong to the owner.

  Another way to help understand the accounting equation is to imagine a brand new business. The new business will presumably need various assets (premises, vehicles, computer equipment and so on) and these will all have to be paid for somehow. The funds to pay for these assets can only come either from the owner (i.e. capital introduced by the owner) or they could be borrowed (i.e. liabilities would arise). In other words:
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 THE RESOURCES USED=SOURCES OF THE FUNDS TOBY THE BUSINESSPAY FOR THOSE RESOURCES

  


  For a brand-new business, this is the same as saying:

   

 ASSETS = CAPITAL + LIABILITIES

  


  The statement above can, of course, be rearranged to give our original version of the equation:

   

 ASSETS-LIABILITIES = CAPITAL

  


  Whichever way you look at it, a business’s assets minus its liabilities must always be equal to its capital. Regardless of how large and complex a business becomes, the equation will always hold true.

   

 Activity 1.8

 The assets of a business amount to £37,000 and the owner’s capital is £25,000. What are the business’s liabilities?

  


   

 Activity 1.9

 You might have heard that the owners’ stake in their business is also called equity. For example, on the TV show Dragon’s Den, potential investors might demand (say) a 40 per cent equity stake in a business. Can we therefore also say that ASSETS – LIABILITIES = EQUITY?

  






            1.8 The impact of business transactions on the balance sheet


For any business, the accounting equation is expressed by its balance sheet. In fact, the accounting equation is sometimes known as the balance sheet equation. The only real differences between the balance sheet and the accounting equation are that the balance sheet is presented in a vertical format, and that it lists all the different types of asset and liability that the business has. We’ll look at the first six transactions of a simple, new business in order to begin to understand how the balance sheet works.





              1. The owner puts some of their own cash into the business

  Suppose on 1 June, Ebony Gray started a business by transferring £6,000 of her own money into a new business bank account. We can prepare the balance sheet of her business after this transaction. Remember that the balance sheet is a vertical expression of the accounting equation: it needs to state all the business’s assets minus all its liabilities, and the subtotal must be equal to Ebony’s capital. In this case, the business doesn’t owe any money to anyone else, so the balance sheet is very simple:

  



	Ebony Gray

	Balance Sheet as at 1 June


	

	£



	
Assets: Cash at bank
	6,000



	
	



	Capital
	6,000








   13   Ebony could always change her mind about starting a business, close the business bank account and walk away with her £6,000. Her stake in the business (her capital) is therefore £6,000.





            2. The business buys a delivery van, paying for it immediately


On 2 June, Ebony buys a second-hand delivery van for £4,000, paying in full by bank transfer straight away. The effect of this transaction on the balance sheet is that the business owns a new asset (the delivery van), but the asset of cash at bank has been reduced by £4,000: 






	Ebony Gray

	Balance Sheet as at 2 June


	

	£



	Assets
	




	    Delivery van
	4,000



	    Cash at bank
	2,000



	

	6,000



	

	




	Capital
	6,000









Ebony paid for the van in full immediately, so the business doesn’t owe any money to anyone, and hence there are still no liabilities. And again, she could always change her mind about starting a business, close it down and walk away with a van that cost £4,000 as well as the £2,000 in the bank. Her stake in the business (her capital) therefore remains £6,000.





              3. The business buys goods for resale which will be paid for later

  Suppose Ebony’s business plan is to buy and sell household goods. On 3 June, she buys goods from a supplier (Tom Cook) which she plans to sell to customers. The goods cost £7,000 but Ebony agrees to pay Cook over the next few weeks. Buying something now but paying for it later is commonly known as buying ‘on credit terms’ or simply ‘on credit’.

  Ebony’s business now owns a new asset, being the goods she hopes to resell. The accounting term for goods held for resale is inventory.

  The business also has a new liability, being the £7,000 owed to Cook, which will be paid in the coming weeks. The accounting term for this type of liability is a trade payable. It’s also sometimes known as an account payable, or just a payable. 

  We can therefore draw up another balance sheet after this transaction, remembering that it’s a vertical expression of the accounting equation ‘ASSETS – LIABILITIES = CAPITAL’:

  



	Ebony Gray

	Balance Sheet as at 3 June


	

	£



	Assets
	




	    Delivery van
	4,000



	    Inventory
	7,000



	    Cash at bank
	2,000



	Liabilities
	




	    Trade payables
	(7,000)



	

	6,000



	

	




	Capital
	6,000
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 Activity 1.10

 On Ebony’s balance sheet at 3 June, why do you think that the total liabilities figure of £7,000 is shown in brackets?

  






            4. The business sells an asset at cost price, and the customer will pay later


On 4 June, goods that originally cost £1,800 were sold to a customer (Azam Khan) for the same price. Of course, usually a business sells its goods at a price greater than their original cost, in order to make a profit. But just initially, we’ll keep things simple and wait until Chapter 4 before dealing with the sale of goods at a profit. Khan agrees to pay Ebony for the goods in July. This is commonly known as making a sale ‘on credit terms’ or simply ‘on credit’.


Ebony’s asset of inventory therefore falls by £1,800, but a new asset has been created, being the promise that she will receive £1,800 cash from Khan in July. The accounting term for this type of asset is a trade receivable. It’s also sometimes known as an account receivable or simply a receivable. Her balance sheet therefore becomes:






	Ebony Gray

	Balance Sheet as at 4 June


	

	£



	Assets
	




	    Delivery van
	4,000



	    Inventory
	5,200



	    Trade receivables
	1,800



	    Cash at bank
	2,000



	Liabilities
	




	    Trade payables
	(7,000)



	

	6,000



	

	




	Capital
	6,000



	

	













            5. The business pays one of its liabilities


On 5 June, Ebony pays £1,500 by bank transfer to Tom Cook, being the first instalment of the total amount she owes him. The asset of cash at bank therefore falls by £1,500, and the liability of trade payables is reduced by £1,500 too:






	Ebony Gray

	Balance Sheet as at 5 June

	



	

	£



	Assets
	




	    Delivery van
	4,000



	    Inventory
	5,200



	    Trade receivables
	1,800



	    Cash at bank
	500



	Liabilities
	




	    Trade payables
	(5,500)



	

	6,000



	

	




	Capital
	6,000



	

	













               15   6. The business borrows money to immediately buy an asset

  On 6 June, Ebony borrows £3,000 cash from her Uncle Frank, using all the money to immediately buy a new £3,000 computer for the business, paying in full straight away. Ebony agrees to repay Frank in five years’ time. As a result, her business has a new asset (computer equipment that cost £3,000) and a new liability (the loan from Frank, to whom Ebony owes £3,000):

  



	Ebony Gray

	Balance Sheet as at 6 June


	

	£



	Assets
	




	    Delivery van
	4,000



	    Computer equipment
	3,000



	    Inventory
	5,200



	    Trade receivables
	1,800



	    Cash at bank
	500



	Liabilities
	




	    Trade payables
	(5,500)



	    Loan from Frank
	(3,000)



	

	6,000



	

	




	Capital
	6,000








  Once again, Ebony’s capital remains unchanged. The total of all the business’s assets minus all its liabilities is still £6,000. She could decide to end her business, use the assets to pay both liabilities, and the assets that remained would belong to her.

   

 Activity 1.11

 A business has the following assets and liabilities: buildings £23,100; machinery £12,700; inventory £4,900; trade receivables £7,300; bank overdraft £1,600; trade payables £6,400. What is the owner’s capital?

  






              1.9 How does the balance sheet always manage to stay in balance?

  In the previous section, we saw that after each of Ebony Gray’s six simple transactions, the totals of the two sections of the balance sheet remained equal. This will always be the case, regardless of how complicated transactions eventually become. How is this possible? The answer relies on the fact that the balance sheet is an expression of the accounting equation ‘ASSETS – LIABILITIES = CAPITAL’. As we’ve seen, this can easily be rearranged to give:

   

 ASSETS = CAPITAL + LIABILITIES

  


   16   The equation is always able to stay in balance because every transaction will affect two items, allowing the two sides of the equation to remain equal. If a transaction results in an increase in total assets (the left-hand side of the equation above) then the total of ‘capital + liabilities’ (the right-hand side) must increase by the same amount.

  Similarly, if a transaction results in a fall in total assets, then the total of ‘capital+liabilities’ must decrease by the same amount. For each of the six transactions we saw in the previous section, we can summarise the impact on the equation.

  




	TRANSACTION

	ASSETS

	=

	CAPITAL

	+

	LIABILITIES




	1. The owner puts their own money into the business

	⬆ Increase in asset of cash at bank

	


	⬆ Increase in capital

	


	





	2. The business buys a delivery van, paying for it immediately

	
⬆ Increase in asset of delivery van




⬇ Decrease in asset of cash at bank


	


	


	


	





	3. Buys goods for resale that will be paid for later

	⬆ Increase in asset of inventory

	


	


	


	⬆ Increase in liability of trade payables




	4. Sells some inventory at cost price; the customer will pay later

	
⬇ Decrease in asset of inventory




⬆ Increase in asset of trade receivables


	


	


	


	





	5. Pays an amount owed to a supplier

	⬇ Decrease in asset of cash at bank

	


	


	


	⬇ Decrease in liability of trade payables




	6. Borrows money to immediately buy a computer

	⬆ Increase in asset of computer equipment

	


	


	


	⬆ Increase in liability of loan









  The table above emphasises the fact that every transaction has two effects, and that their impact always enables the two sides of the accounting equation to remain equal.

  So far, we’ve only considered a few simple business transactions. But over the course of this book we’ll see that the principle always holds true: every transaction will have two effects, allowing the equation to always stay in balance.





            1.10 Alternative ways of presenting the balance sheet


Balance sheets are always presented in two sections, and the totals of the two sections are always equal. Both of the following formats for presenting the balance sheet are equally acceptable:

      
	
assets minus liabilities in the upper section, and capital below;

	
assets in the upper section, and capital plus liabilities below.




Both formats above are just different arrangements of the same accounting equation.


In our examples so far, the balance sheet has always been presented in the first of the two alternatives above (ASSETS – LIABILITIES = CAPITAL). For consistency, we’ll use this presentation throughout the book. The second format above (ASSETS = CAPITAL + LIABILITIES) is equally good. Any preference for one format or the other isn’t hugely significant, and certainly won’t affect your understanding of any of the fundamental principles or techniques of financial accounting. We’ll use the format of ASSETS – LIABILITIES = CAPITAL for our balance sheets, simply because it’s more commonly used by businesses in real life.





               17   1.11 Classification and ordering of assets and liabilities on the balance sheet

  So far, we’ve listed the assets and liabilities on our balance sheets without thinking about any particular classification or sequence. However, to make it easier to compare the balance sheet of one business with another, assets and liabilities must each be shown under one of two categories, and assets should also be listed in a certain order.

  We’ll look at the format of the balance sheet in more detail in Chapter 8. But in the meantime, it might be helpful to apply some classification and order to the example of Ebony Gray’s balance sheet on 6 June from the end of Section 1.8. We’ll do this in Exhibit 1.5.

   

 Exhibit 1.5 Presenting a sole trader’s balance sheet

 



	Ebony Gray

	Balance Sheet as at 6 June


	

	

	

	




	

	£
	

	£



	Non-current assets
	

	

	




	    Delivery vans
	

	

	4,000



	    Computer equipment
	

	

	3,000



	

	

	

	7,000



	Current assets
	

	

	




	    Inventory
	5,200
	

	




	    Trade receivables
	1,800
	

	




	    Cash at bank
	500
	

	7,500



	Total assets
	

	

	14,500



	

	

	

	




	Current liabilities
	

	

	




	    Trade payables
	(5,500)
	

	




	Non-current liabilities
	

	

	




	    Loan from Frank
	(3,000)
	

	




	Total liabilities
	

	

	(8,500)



	

	

	

	6,000



	

	

	

	




	Capital
	

	

	6,000








  


   18   The format of the balance sheet above may seem a little daunting at first, with its use of two columns, various subheadings and subtotals. We’ll therefore look closely at balance sheets in Chapter 8. As you work through this book, you’ll soon become very familiar with them. In the meantime, we’ll just highlight some of the main points evident from Exhibit 1.5.

  First, Ebony’s assets are shown in the balance sheet under one of two categories.

    
	
Non-current assets: these are essentially the long-lasting assets acquired by the business for it to use for several years. Examples include buildings, machinery, vehicles and computer equipment.

	
Current assets: these are assets that are continually changing each day as the business trades. Inventory goes up and down as the business buys and sells goods; trade receivables rise and fall as some customers buy goods on credit and others pay what they owe; and cash in the bank will constantly fluctuate as the business receives and pays money.



  Similarly, all liabilities are shown under one of two categories.

    
	
Current liabilities: these are amounts owed by the business that will have to be paid within one year of the balance sheet date. For example, trade payables are current liabilities because a business will normally have to pay for goods and services within a month or so of receiving them.

	
Non-current liabilities: these are amounts owed by the business that will be paid more than one year after the balance sheet date. The most obvious example is a long-term loan, where the business has borrowed money and has agreed to repay it in (say) five years’ time.



  Additionally, within each category, assets are listed in a particular order.

    
	
Non-current assets: when different types of non-current asset are shown separately on the balance sheet, they’re listed in order of how long they’re expected to last, starting with the longest life. For example, if a business owns a building and several laptops, it would be normal to expect that the building should last much longer than the laptops, so the building will be listed first.

	
Current assets: these are always listed in the order: inventory, trade receivables, then cash. This reflects the operating cycle of a business whereby inventory is bought, then sold to customers (normally on credit terms) and finally cash is received from the customer.



   

 Activity 1.12

 Why do you think we use the word ‘current’ in the terms current assets and non-current assets?

  






              1.12 Financial accounting assumptions, concepts and standards

  You might expect that the process of recording transactions, summarising and reporting them, is a straightforward matter of accurate recording and good arithmetic. You may think that financial accounting reports (such as the balance sheet we’ve introduced in this chapter) simply present the facts in the only way that they could be shown. 

  However, this is not the case. Financial accounting is based on various assumptions and conventions. If these assumptions and conventions were changed, the figures in the financial statements would be very different.

  An example is the historical cost convention. This means that accountants normally measure items in the financial statements at the price paid to originally acquire them. For instance, earlier in this chapter, Ebony’s business bought a delivery van for £4,000. The van was therefore recorded in her balance sheet at its historical cost of £4,000. The balance sheet doesn’t attempt to estimate what Ebony would get if she sold the van, or what she’d need to pay if she had to replace it. There are alternative methods we could use to measure the value of the van, but its original (or historical) cost is how accountants normally measure things.

   19   There are several other concepts and assumptions underlying how financial statements are prepared. We’ll look at them in detail in Chapter 10. It makes sense to start by building up a foundation of core knowledge over the first nine chapters. Chapter 10 will then be much easier to understand.

  As well as concepts and assumptions, there are also accounting standards, which are detailed rules regarding how certain items and situations should be treated in financial statements. Again, it wouldn’t make sense to look at any of these standards yet. Instead, we’ll introduce several of them as we progress through the book.





            1.13 The impact of computerisation on accounting


Nowadays, most businesses use computerised accounting systems. In real life, many of the entries and techniques described in a book like this will be carried out automatically by the software. A huge proportion of financial recordkeeping is now automated.


However, accountants still need to thoroughly understand what the computer system is doing. They need to understand what it’s showing on their screens. They’ll sometimes need to deal with unusual transactions or adjustments, so they’ll need a firm grasp of double entry bookkeeping, which is the universal method for recording financial events.


And although computerised systems can produce various reports at the touch of a button, accountants need to understand how the system prepared them, and therefore what they tell us about the business.


As your studies progress in financial accounting, a solid understanding of the double entry system, the format of the key financial statements, how those statements are prepared and what they mean will all be essential. This book aims to provide a firm foundation in these things. For all these reasons, the content of this book remains very relevant and important, despite computerisation.


The development of computerised systems has had a positive impact on the accounting profession. Accountants no longer spend most of their time manually recording transactions and compiling reports. Instead, they can focus on analysing financial information, advising and participating in key decisions. But to perform this new role properly, accountants still require a thorough understanding of where the information comes from and how it is prepared. The rest of this book aims to provide this understanding.


 

 Learning outcomes

 You should now have learnt:

       
	Accounting is the process of recording and measuring business activities, and summarising the data that have been collected into information that people can use to help them make better decisions.

	The two main branches of accounting—financial accounting and management accounting—and the main differences between them.

	Various user groups of financial accounting reports and what information they are particularly interested in.  

	The two most important user groups are existing and potential investors in the business, and existing and potential lenders to it.

	In order to maintain confidence in accountants and accounting information, it’s vital that professional accountants maintain the highest standards of ethics and integrity.

	The two most fundamental financial statements are the income statement (or statement of profit or loss) and the balance sheet (or statement of financial position).

	The income statement shows the revenue earned by the business in a period, minus all the expenses incurred in earning that income.

	The balance sheet shows the business’s assets, liabilities and capital as at the end of the period.

	An asset of a business is essentially a thing that it owns.

	A liability of a business is an amount that it owes to another person or business.

	The capital figure represents a measure of the owner’s stake in their business.

	The balance sheet is based on the accounting equation: ASSETS – LIABILITIES = CAPITAL.

	Every business transaction affects two things, which enables the accounting equation (and the balance sheet) to always stay in balance.

	The stock of goods that a business holds with the intention of selling to customers is called inventory.

	Amounts owed to the business by its customers are called trade receivables.

	Amounts owed by the business to its suppliers are called trade payables.

	Assets and liabilities are each divided on the balance sheet into one of two categories, and assets are listed in a particular sequence.

	How to prepare a simple balance sheet for a new, small business.

	There are various concepts and assumptions underlying how financial statements must be prepared and presented.

	There are also a number of detailed rules (or standards) that specify how certain transactions or situations must be treated in financial statements.

	Nowadays, nearly all businesses use computerised accounting software, but the accountants of tomorrow still need to understand the fundamentals of financial accounting.



  






               20   Answers to activities

  1.1  It’s true that people outside the business would be very interested in an accurate forecast of how well it’s likely to do in the future. Management accountants will indeed produce forecasts, for internal use. The problem is that all forecasts are uncertain. However carefully it’s put together, any forecast of future performance could easily turn out wrong. And businesses could potentially take advantage of the uncertainty by deliberately publishing unrealistic forecasts. This is the main reason why financial accounting concentrates on reporting the past: reports of past events can be largely rooted in facts, whereas forecasts rely heavily on guesswork and speculation.

  1.2  It’s generally accepted that the first two groups in Exhibit 1.2 are the most important: existing and potential investors, and existing and potential lenders. This is because the decisions being made by these two groups—whether to invest in or lend to a business—tend to have the most significant consequences. First, large sums of money may be at stake for the investors or lenders concerned. Second, and even more importantly, if these two groups can’t get reliable financial information to help them make decisions, they won’t invest or lend at all. Good businesses would be unable to expand, and the entire economy would grind to a halt.  

   21   1.3  All five are always important, but arguably the two most directly relevant are (2) Objectivity and (3) Professional competence & due care. With (2), it’s vital that accountants are unbiased in relation to the many areas of judgement that affect figures in the financial statements. For example, it would be totally inappropriate to make a particular judgement purely on the basis that it helped make the business seem more successful than it actually was. For (3), it’s essential that accountants possess the knowledge and skill necessary to prepare high-quality financial statements which comply with all current rules and regulations.

            The other three principles are important too. For example, (4) Confidentiality is relevant because some accountants will have inside knowledge of how well a company has performed before its financial statements have been published. They shouldn’t abuse that inside knowledge for personal gain (e.g. by buying or selling shares in the company they work for just before its results are published).

  1.4  Most ethical codes are based on principles because they have various advantages over detailed rules:

            
	The modern world is constantly changing. A set of principles can still be applied to new situations, whereas detailed rules would need to be continually updated.

	The circumstances of each individual situation will be slightly different. It would be impossible to write a set of rules that covered every variation.

	A set of principles is more likely to ensure that accountants follow the spirit as well as the letter of the code. With detailed rules, it becomes easier for some people to sidestep a rule by arguing that its wording describes a slightly different situation to the one they face.



  A possible disadvantage of a principles-based system is that accountants could apply their own interpretation to the principles set out in the code. However, a rules-based system could be said to have a similar disadvantage, as indicated in (ii) and (iii) above.

  1.5  You could become aware, for example, that one of your friends on your course:

    
	bought their latest essay online and has been awarded a very high mark; or

	has hidden a library book (one that is particularly useful for an upcoming assignment) somewhere in the library; or

	plans to sneak revision notes into an upcoming exam and refer to them.



  In each case, the fact that your friend’s behaviour is ‘wrong’ is obvious. However, your relationship with them might make you hesitant to act. There is also the practical problem of it likely to be ‘your word against theirs’ if you report it to those in authority. It’s not always easy to take the ethical course of action. However, professional accountants have a duty to act ethically in all their business activities, for the reasons we’ve explained. 

  1.6  Not really. We’ll soon see that, for several reasons, the balance sheet rarely gives us an accurate figure for the current value of a business. Of the various reasons, two are:

    
	Vital business assets, such as its brand name, reputation and the skill of its managers, aren’t shown on the balance sheet because they’re too difficult to value accurately.

	Most assets are shown on the balance sheet based on what they originally cost (their ‘historical cost’). Because of inflation and other factors, the original cost of assets won’t be the same as their current value.



  1.7  Yes. There are many organisations that aren’t businesses—public sector organisations (like police forces, schools or hospitals), charities, trade unions, religious organisations, and so on. They will all need accounting. For example, they’ll need to record all their expenditure and any income, and regularly summarise these data in reports to monitor whether their finances are under control.

  The focus of this book is private sector businesses, but the core principles of financial accounting we’ll cover (such as bookkeeping, balance sheets, accruals and so on) will all be applicable to non-business (or ‘not-for-profit’) organisations too.

  1.8  Assets minus liabilities must always equal capital, so liabilities must be £12,000.

  1.9  Yes. In this context, equity is another word for capital. ASSETS  – LIABILITIES = CAPITAL means the same as ASSETS – LIABILITIES = EQUITY. However, the term equity applies when the business is a company, because each share in the company gives the shareholder an equal stake. Since we’ll begin by looking at sole traders, we’ll start by using the word capital rather than equity.

   22   1.10  It’s shown in brackets because the balance sheet expresses the accounting equation ‘ASSETS  – LIABILITIES = CAPITAL’. Liabilities are therefore subtracted from assets on the balance sheet. In accounting, we use brackets instead of a minus sign to indicate that we are subtracting a number.  The reason for using brackets is historical. In the old days, all accounting was handwritten on paper, with pen and ink. A small, accidental ink mark on the paper might easily have been mistaken for a minus sign. To avoid possible confusion, it was much safer to use brackets to indicate clearly when a number was to be deducted. 

  1.11  The owner’s capital is £40,000 (£48,000 assets − £8,000 liabilities) because:

    	
Assets = £23,100 + £12,700 + £4,900 + £7,300 = £48,000; and


    	Liabilities = £1,600 + £6,400 = £8,000.


  1.12  The best way to understand the use of the word ‘current’ is to think of a river current or an electric current. A river current is constantly flowing, just like the current assets of a business. Inventory is constantly flowing in and out of the business; trade receivables are constantly changing as one customer buys goods and another pays what they owe; and cash is continually fluctuating as money is received and paid. 

  In contrast, non-current assets aren’t constantly changing. From time to time, the business will buy a new vehicle, or sell an old machine, but these changes will be intermittent. By definition, most non-current assets will be kept for several years. Unlike a river current or an electric current, non-current assets aren’t constantly flowing in and out of the business. (For the same reason, non-current assets used to be known as fixed assets in the UK. The term fixed assets is still widely used in Britain.)





              Review questions

  At the end of each chapter, there is a set of review questions. The answers are at the back of the book, except for those with an ‘A’ after the question number. Your teacher or lecturer will be able to provide you with the answers to those. If you are studying on your own, there are still more than enough review questions with answers at the back of the book to allow you to learn very effectively. 

  As a general rule, the review questions at the end of each chapter tend to start with easier ones, and then get progressively more difficult.

  Multiple-choice questions (MCQs): in addition to the review questions at the end of each chapter, there are five sets of 20 MCQs at intervals throughout the book. The first set of 20 MCQs is at the end of Chapter 6, and covers material from the first six chapters. It’s best to wait until you’ve studied the first six chapters before you attempt the first set.

  1.1 Complete the gaps in the following table:

  




	

	Assets
	Liabilities
	Capital



	

	£
	£
	£



	(a)
	42,000
	22,000
	?



	(b)
	78,500
	43,300
	?



	(c)
	59,900
	?
	25,700



	(d)
	61,700
	?
	18,600



	(e)
	?
	32,900
	21,300



	(f)
	?
	19,400
	31,300








   23   1.2A Complete the gaps in the following table:

  




	

	Assets
	Liabilities
	Capital



	

	£
	£
	£



	(a)
	89,000
	38,000
	?



	(b)
	?
	42,900
	37,700



	(c)
	96,500
	?
	42,200



	(d)
	103,800
	61,300
	?



	(e)
	119,100
	?
	61,400



	(f)
	?
	49,100
	51,300








  1.3 Which of the items in the following list are liabilities and which of them are assets?

        
	Motor vehicle

	Amounts owed to us by customers

	Land

	Bank overdraft

	Inventory of goods held for sale

	Amounts owed by us to suppliers



  1.4A Classify the following items into liabilities and assets:

        
	Computers

	Buildings

	Trade payables

	Inventory

	Trade receivables

	Cash in bank

	Bank overdraft

	Loan from bank

	Vans



  1.5 State which of the following are incorrectly classified:

  




	Assets
	Liabilities



	Loan from M. Singh
	Delivery van



	Bank overdraft
	Trade payables



	Trade receivables
	Computer equipment



	Warehouse
	Machinery



	Office furniture
	Cash in hand








  1.6A Which of the following are shown under the wrong headings?

  




	Assets
	Liabilities



	Cash at bank
	Bank overdraft



	Fixtures and fittings
	Equipment



	Trade payables
	Computers



	Premises
	Loan from building society



	Inventory
	




	Trade receivables
	




	Capital
	









   24   1.7       Winston is setting up a new business. Before selling anything, he bought a van for £9,995; a transportable market stall for £2,050; a computer for £495; and an inventory of goods for £11,720. He did not pay in full for his inventory of goods and still owes £2,380 for them. He borrowed £5,000 from G. Orwell. After the events just described, and before trading starts, he has £100 cash in hand and £920 in the bank. Calculate the amount of his capital.

  1.8A     Danielle is starting a business. Before starting to sell anything, she bought fixtures for £4,100, a van for £5,950 and an inventory of goods for £3,620. Although she has paid in full for the fixtures and the van, she still owes £1,670 for some of the inventory. M. Johnson lent her £3,000. After the above, Danielle has £780 in the business bank account and £50 cash in hand. You are required to calculate her capital.

  1.9       Draw up Tom Galley’s balance sheet from the following information as at 31 December 2024:

  




	

	£



	Capital
	37,650



	Trade receivables
	9,290



	Motor vehicle
	11,610



	Trade payables
	10,230



	Equipment
	14,160



	Inventory
	12,340



	Cash at bank
	480








  1.10A Prepare Amy Banfield’s balance sheet as at 30 June 2024 from the following details:

  




	

	£



	Capital
	22,960



	Equipment
	11,660



	Trade payables
	6,390



	Inventory
	7,920



	Trade receivables
	9,400



	Cash at bank
	370








  1.11 Complete the columns to show the effects of the following transactions:

  




	

	
Effect upon





	

	Assets
	Liabilities
	Capital



	(a) Pay an amount owed to a supplier, £626 by bank transfer.
	

	

	




	(b) Buy fixtures £303, paying in cash immediately.
	

	

	




	(c) Buy goods for resale on credit terms £727.
	

	

	




	(d) The owner introduces another £1,500 cash into their business.
	

	

	




	(e) J. Chan lends £3,500 cash to the business.
	

	

	




	(f) Receive an amount owed by a customer, £808 cash.
	

	

	




	(g) Return goods that had originally cost £99 (and which hadn’t yet been paid for) to a supplier.
	

	

	




	(h) Buy a computer £909, paying in full by cheque immediately.
	

	

	









   25   1.12A Complete the columns to show the effects of the following transactions:

  




	

	
Effect upon





	

	Assets
	Liabilities
	Capital



	(a) Bought a delivery van on credit terms £8,895.
	

	

	




	(b) Repaid a loan owed to M. Ali £7,000 in cash.
	

	

	




	(c) Bought goods for resale £1,480 paying by cheque straight away.
	

	

	




	(d) The owner puts a further £2,750 cash into their business.
	

	

	




	(e) Return goods to a supplier which had originally cost £248 and which hadn’t yet been paid for.
	

	

	




	(f) Bought goods for resale on credit terms £848.
	

	

	




	(g) The owner took £375 cash out of his business for personal use.
	

	

	




	(h) Pay an amount owed to a supplier, £970 by bank transfer.
	

	

	









  1.13      Abdul has the following items in his balance sheet on 30 April 2024: Capital £26,060; Trade payables £5,510; Fixtures £12,390; Motor vehicle £7,500; Inventory £4,210; Trade receivables £6,350; Cash at bank £920; Cash in hand £200.

  During the first week of May 2024:

        
	He bought more inventory for £490 on credit terms.

	A credit customer paid him an amount owed, £350 by bank transfer.

	He bought a computer for £720, paying in full immediately by bank transfer.



  You are asked to draw up a balance sheet as at 7 May 2024 after the above transactions have been completed.

  1.14A   J. Hill has the following assets and liabilities on 30 November 2024: Trade payables £2,800; Equipment £6,200; Motor vehicle £7,300; Inventory £8,100; Trade receivables £4,050; Cash at bank £9,100; Cash in hand £195.

  You are not given the capital amount at that date.

  During the first week of December 2024:

        
	Hill bought extra equipment on credit terms for £110.

	Hill bought more inventory for £380, paying in full straight away by bank transfer.

	Hill paid an amount owed to a credit supplier by cheque £1,150.

	Certain credit customers paid the amounts they owed: £640 by bank transfer and £90 by cash.

	Hill put an extra £1,500 into the business: £1,300 by bank transfer and £200 in cash.



  You are to draw up a balance sheet as at 7 December 2024 after the above transactions have been completed.





              Chapter 2

  The double entry system for assets, liabilities and capital

   26    

 Learning objectives

 After you have studied this chapter, you should be able to:

   
	Describe how the double entry bookkeeping system is based upon the accounting equation.

	Identify whether ledger accounts for assets, liabilities and capital should be debited or credited depending on the impact of a transaction.

	Enter transactions which affect a business’s assets, liabilities or capital in its ledger accounts.



  






            Introduction


In the previous chapter, we looked at some simple transactions for a new business and how they affected its balance sheet. We saw that every transaction affected two things, which ensured that assets minus liabilities were always equal to capital. However, instead of constantly drawing up new balance sheets, we need a more efficient system for recording transactions. The system is called double entry bookkeeping. We’ll introduce it in this chapter, using simple transactions that only affect assets, liabilities and/or capital. In Chapters 3 and 4, we’ll extend the system to also deal with income and expenses.





            2.1 A method for recording a business’s transactions


In the previous chapter, we introduced the basic accounting equation: the rule that the assets of a business minus its liabilities must always be equal to its capital. We also saw that every business transaction affects two items, which allows the equation to always stay in balance.


We then looked at a sequence of six simple transactions for a new business and produced a balance sheet after each one. Because the balance sheet is a vertical expression of the accounting equation, we found that the totals of the two sections of the balance sheet remained equal after each transaction.


However, it would be ridiculous for a business to draw up a whole new balance sheet after every single transaction. Businesses might carry out hundreds or thousands of transactions every day, and it would be highly inefficient to record them by producing a new balance sheet after each one.


Moreover, the balance sheet alone wouldn’t give the business all the information it needs: for example, the balance sheet only shows the total amount that is due from customers (trade receivables), but a real business also needs to keep track of exactly who owes what. So instead of constantly drawing up new balance sheets, a system had to be developed to record the two effects of each transaction in a more efficient and useful manner. The system that was developed hundreds of years ago, and is still used today by businesses all over the world, is called double entry bookkeeping.





               27   2.2 Introducing double entry bookkeeping

  The basis for the system is that businesses keep a set of accounts. An account is simply a record of all the transactions affecting a particular item. So there will be an account for ‘computer equipment’, another for ‘motor vehicles’, and so on. There is no limit to the number of accounts that a business can have, and no rules on exactly what each one should be called. Businesses will use whatever accounts they need for whatever transactions they have to record.

  The set of all the accounts is called the ledger. For this reason, they’re sometimes called ledger accounts. ‘Ledger’ is just an old-fashioned word for a large book. Nowadays, records are nearly always computerised, but we still use the word ledger.

  Every time a transaction affects an item, an entry needs to be made in the ledger account for that item. For example, if a business buys a new delivery van, paying in cash immediately, the increase in its motor vehicles must be recorded with an entry in the motor vehicles account and the decrease in its cash recorded with an entry in the cash account.

  But unfortunately, accountants don’t just use pluses and minuses to record these increases and decreases. Instead, for various reasons, they use a system of debit entries and credit entries.





            2.3 The special meaning of debit and credit in accounting


Double entry bookkeeping involves making two entries for every transaction: a debit entry and a credit entry. The words debit and credit come from Latin, due to the origins of modern accounting in Italy hundreds of years ago. But looking back at the original meaning of the Latin words ‘debitum’ and ‘creditum’ probably won’t help us understand double entry bookkeeping.


Moreover, you must not think that the words debit and credit in accounting mean the same as they do in normal everyday language. For example, you might use a debit card to buy things; you might need credit on your phone; or you might give someone credit for doing something well. It’s essential to ignore this everyday usage of the words debit and credit when you’re trying to understand double entry bookkeeping.


 

 Activity 2.1

 It’s nice when someone gives you credit for doing something well. Does that mean credit means good, and debit bad, in accounting?

  






              2.4 The double entry system for assets, liabilities and capital

  For centuries, accounts were drawn up in books, with pen on paper. Every account in the books was split down the middle, into two halves. The left-hand side was always the debit side, and the right-hand side was always the credit side:

  



	Name of account written here


	Debit side
	Credit side








  When accounts are drawn up on paper as above, they are often known as T accounts, for obvious reasons. Nowadays, accounts are computerised, but software always follows the same convention: debit is always on the left and credit is always on the right.

  We saw in Chapter 1 that every transaction has two effects. One of these effects will be recorded with a debit entry (i.e. on the left-hand side of one account) and the other with a credit entry (i.e. on the right-hand side of another account). This will give us the advantage of being able to check at any time whether the total of all the debit entries is equal to the total of all the credit entries, so it will help us spot whether we’ve made a mistake. But the key question is: how do we know which entry is the debit and which one is the credit?

   28   The answer lies in the accounting equation. We saw in Chapter 1 that a business’s assets minus its liabilities must always be equal to its capital. This can easily be rearranged to state that assets must always be equal to capital plus liabilities:

   

 ASSETS = CAPITAL    +    LIABILITIES

  


  The above equation must always hold true, after every transaction. Logically, if a transaction results in an increase in the ‘assets’ side of the equation then the ‘capital + liabilities’ side must also increase. Since for every transaction there must be a debit entry and an equal and opposite credit entry, the following double entry rule was developed:

   

 



	

	ASSETS
	=
	CAPITAL  +  LIABILITIES



	To record an increase
	Debit entry
	

	Credit entry








  


  Of course, if an increase in an asset is recorded with a debit entry to the relevant asset account, then a decrease in that asset would logically have to be recorded with a credit. Therefore we have:

   

 




	

	ASSETS
	=
	CAPITAL  +  LIABILITIES



	To record an increase
	Debit entry
	

	Credit entry



	To record a decrease
	Credit entry
	

	Debit entry








  


  Note that trying to understand why the word ‘debit’ is used to record an increase in an asset (or why the word ‘credit’ is used for an increase in capital or a liability) is unlikely to help. It’s just the convention that was established hundreds of years ago, and which all accountants and accounting software still follow today. As explained earlier, thinking about the everyday usage of the words ‘debit’ and ‘credit’ won’t help either, and will only make double entry bookkeeping more confusing.

  Another way of summarising the above system is as follows:

  




	Any asset account
	

	Any liability account
	

	Capital account



	Increases in this asset are recorded on the debit side
	Decreases in this asset are recorded on the credit side
	

	Decreases in this liability are recorded on the debit side
	
Increases in this liability are 
recorded on the credit side


	

	Decreases in capital are recorded on the debit side
	Increases in capital are recorded on the credit side














              2.5 Some worked examples

  Let’s try recording some transactions in T accounts using the double entry rules we’ve just introduced. Suppose Ravi starts a new business. We’ll look at four transactions from his first month of trading. 

  1. Ravi starts a new business on 1 June 2024 by putting £4,000 of his own money into a business bank account

  To record this using the double entry system, we need to identify what two things have changed in Ravi’s business as a result of the transaction, and apply the double entry rules to work out how to enter it in his books. We know from Chapter 1 that, when a sole trader puts their own money into the business, this increases their capital. The table below sets out what has happened and what we need to do.

   29    
[image: A three-part schematic shows the two affixes of transaction, the double entry rule and the entries needed in bank and capital accounts, respectively.]

 The schematic consists of three sections. Section one leads to section two and section two leads to section three. Each section has two entries. The first entry of the first section points to the first entry of the second section, and this in turn points to the first entry under the third section. Similarly, the second entry of the first section points to the second entry of the second section, and this in turn points to the second entry under the third section. From left to right, the sections are as follows:

The first section is titled 'The two effects of this transaction are:' The two entries under this section are as follows:

1. The business's asset of cash at bank has increased.

2. Ravi's capital has increased.

The second section is titled 'The double entry rule says:'The two entries under this section are as follows:

Increases in an asset are recorded with a debit entry.

Increases in capital are recorded with a credit entry.

The third section is titled 'Therefore the entries needed are:' The two entries under this section are as follows:

The cash at bank account must be debited.

The capital account must be credited.


  Given the image above, and remembering that the debit side is always on the left and credit is always on the right, we can therefore enter the £4,000 in T accounts:

  



	Cash at bank



	£ 
	




	4,000 
	









  



	Capital


	

	

	

	

	

	£



	

	

	

	

	

	4,000








  However, the date of the transaction also needs to be entered because this is important information too: for example, if a business wants to see how well it performed over a certain period, it’ll need to know when each transaction took place. The date is therefore also entered in the T accounts:

  



	Cash at bank


	2024
	

	£ 
	

	

	




	1 Jun
	

	4,000 
	

	

	









  
	Capital


	

	

	

	2024
	

	£



	

	

	

	1 Jun
	

	4,000







  Finally, there’s still room in our two accounts to enter some more information about the transaction. If we were using computer software, we might be able to enter a detailed description. But space is quite limited with T accounts. It’s therefore conventional to simply write a cross-reference to the name of the other T account to which the other side of the double entry has been made. In other words, the word ‘Capital’ will be written in the cash at bank account because the other side of that entry was to the capital account. Similarly, the words ‘Cash at bank’ will be written in the capital account:

   30   
	Cash at bank


	2024
	 
	£ 
	 
	 
	 



	1 Jun
	Capital
	4,000 
	 
	 
	 







  
	Capital


	 
	 
	 
	2024
	 
	£



	 
	 
	 
	1 Jun
	Cash at bank
	4,000







  The double entry for our first transaction is now complete: the amount, date and a cross-reference have been entered on the correct sides of each account that was affected by the transaction.

  2. On 2 June 2024, Ravi’s business buys a computer for £995, paying in full straight away by bank transfer. 

   
[image: A three-part schematic shows the two affixes of transaction, the double entry rule and the entries needed in ledger accounts, respectively.]

 The schematic consists of three sections. Section one leads to section two and section two leads to section three. Each section has two entries. The first entry of the first section points to the first entry of the second section, and this in turn points to the first entry under the third section. Similarly, the second entry of the first section points to the second entry of the second section, and this in turn points to the second entry under the third section. From left to right, the sections are as follows:

The first section is titled 'The two effects of this transaction are:' The two entries under this section are as follows:

1. The business's asset of computer equipment has increased.

2. The business's asset of cash at bank has decreased.

The second section is titled 'The double entry rule says:'The two entries under this section are as follows:

Increases in an asset are recorded with a debit entry.

Decreases in an asset are recorded with a credit entry.

The third section is titled 'Therefore the entries needed are:' The two entries under this section are as follows:

The computer equipment account must be debited.

The cash at bank account must be credited.


  The entries in ledger accounts for this transaction can therefore be shown below. This time, we’ll enter the date, cross reference and the amount all at once. As always, debit is on the left and credit on the right:

  



	Computer equipment


	2024
	 
	£ 
	 
	 
	 



	2 Jun
	Cash at bank
	995 
	 
	 
	 








  



	Cash at bank


	 
	 
	 
	2024
	 
	£



	 
	 
	 
	2 Jun
	Computer equipment
	995








   31   Purely to focus our attention on this particular transaction, we haven’t shown the £4,000 from the previous example on the debit side of the cash at bank T account above. At the end of this section, we’ll include all four of Ravi’s example transactions in one set of T accounts.

  3. On 3 June 2024, Ravi’s business buys a delivery van for £2,750 on credit terms (i.e. buy now, pay later) from JK Autos

   
[image: A three-part schematic shows the purchase of a delivery van from J K Autos that is paid later.]

 The schematic consists of three sections. Section one leads to section two and section two leads to section three. Each section has two entries. The first entry of the first section points to the first entry of the second section, and this in turn points to the first entry under the third section. Similarly, the second entry of the first section points to the second entry of the second section, and this in turn points to the second entry under the third section. From left to right, the sections are as follows:

The first section is titled 'The two effects of this transaction are:' The two entries under this section are as follows:

1. The business's asset of motor vehicles has increased.

2. The business's liabilities have increased, because an amount is now owed to J K Autos.

The second section is titled 'The double entry rule says:'The two entries under this section are as follows:

Increases in an asset are recorded with a debit entry.

Increases in a liability are recorded with a credit entry.

The third section is titled 'Therefore the entries needed are:' The two entries under this section are as follows:

The motor vehicles account must be debited.

The J K Autos trade payable account must be credited.


  This transaction can therefore be shown in T accounts as follows:

  
	Motor vehicles


	2024
	 
	£ 
	 
	 
	 



	3 Jun
	JK Autos 
	2,750 
	 
	 
	 







  
	JK Autos (trade payable)


	 
	 
	 
	2024
	 
	£



	 
	 
	 
	3 Jun
	Motor vehicles
	2,750







  We mentioned earlier that there are no strict rules about exactly what name to give to each account. For example, we could have used the name delivery vans instead of motor vehicles for the account debited above. Similarly, the name JK Autos could be used for the account we credited. We’ve added the words trade payable in brackets simply to emphasise the fact that it represents a liability: an amount owed to one of the business’s suppliers.
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OEBPS/js/highlightjs-line-numbers.js
// jshint multistr:true

(function (w, d) {
    'use strict';

    var TABLE_NAME = 'hljs-ln',
        LINE_NAME = 'hljs-ln-line',
        CODE_BLOCK_NAME = 'hljs-ln-code',
        NUMBERS_BLOCK_NAME = 'hljs-ln-numbers',
        NUMBER_LINE_NAME = 'hljs-ln-n',
        DATA_ATTR_NAME = 'data-line-number',
        BREAK_LINE_REGEXP = /\r\n|\r|\n/g;

    if (w.hljs) {
        w.hljs.initLineNumbersOnLoad = initLineNumbersOnLoad;
        w.hljs.lineNumbersBlock = lineNumbersBlock;
        w.hljs.lineNumbersValue = lineNumbersValue;

        addStyles();
    } else {
        w.console.error('highlight.js not detected!');
    }

    function isHljsLnCodeDescendant(domElt) {
        var curElt = domElt;
        while (curElt) {
            if (curElt.className && curElt.className.indexOf('hljs-ln-code') !== -1) {
                return true;
            }
            curElt = curElt.parentNode;
        }
        return false;
    }

    function getHljsLnTable(hljsLnDomElt) {
        var curElt = hljsLnDomElt;
        while (curElt.nodeName !== 'TABLE') {
            curElt = curElt.parentNode;
        }
        return curElt;
    }

    // Function to workaround a copy issue with Microsoft Edge.
    // Due to hljs-ln wrapping the lines of code inside a <table> element,
    // itself wrapped inside a <pre> element, window.getSelection().toString()
    // does not contain any line breaks. So we need to get them back using the
    // rendered code in the DOM as reference.
    function edgeGetSelectedCodeLines(selection) {
        // current selected text without line breaks
        var selectionText = selection.toString();

        // get the <td> element wrapping the first line of selected code
        var tdAnchor = selection.anchorNode;
        while (tdAnchor.nodeName !== 'TD') {
            tdAnchor = tdAnchor.parentNode;
        }

        // get the <td> element wrapping the last line of selected code
        var tdFocus = selection.focusNode;
        while (tdFocus.nodeName !== 'TD') {
            tdFocus = tdFocus.parentNode;
        }

        // extract line numbers
        var firstLineNumber = parseInt(tdAnchor.dataset.lineNumber);
        var lastLineNumber = parseInt(tdFocus.dataset.lineNumber);

        // multi-lines copied case
        if (firstLineNumber != lastLineNumber) {

            var firstLineText = tdAnchor.textContent;
            var lastLineText = tdFocus.textContent;

            // if the selection was made backward, swap values
            if (firstLineNumber > lastLineNumber) {
                var tmp = firstLineNumber;
                firstLineNumber = lastLineNumber;
                lastLineNumber = tmp;
                tmp = firstLineText;
                firstLineText = lastLineText;
                lastLineText = tmp;
            }

            // discard not copied characters in first line
            while (selectionText.indexOf(firstLineText) !== 0) {
                firstLineText = firstLineText.slice(1);
            }

            // discard not copied characters in last line
            while (selectionText.lastIndexOf(lastLineText) === -1) {
                lastLineText = lastLineText.slice(0, -1);
            }

            // reconstruct and return the real copied text
            var selectedText = firstLineText;
            var hljsLnTable = getHljsLnTable(tdAnchor);
            for (var i = firstLineNumber + 1 ; i < lastLineNumber ; ++i) {
                var codeLineSel = format('.{0}[{1}="{2}"]', [CODE_BLOCK_NAME, DATA_ATTR_NAME, i]);
                var codeLineElt = hljsLnTable.querySelector(codeLineSel);
                selectedText += '\n' + codeLineElt.textContent;
            }
            selectedText += '\n' + lastLineText;
            return selectedText;
        // single copied line case
        } else {
            return selectionText;
        }
    }

    // ensure consistent code copy/paste behavior across all browsers
    // (see https://github.com/wcoder/highlightjs-line-numbers.js/issues/51)
    document.addEventListener('copy', function(e) {
        // get current selection
        var selection = window.getSelection();
        // override behavior when one wants to copy line of codes
        if (isHljsLnCodeDescendant(selection.anchorNode)) {
            var selectionText;
            // workaround an issue with Microsoft Edge as copied line breaks
            // are removed otherwise from the selection string
            if (window.navigator.userAgent.indexOf('Edge') !== -1) {
                selectionText = edgeGetSelectedCodeLines(selection);
            } else {
                // other browsers can directly use the selection string
                selectionText = selection.toString();
            }
            e.clipboardData.setData('text/plain', selectionText);
            e.preventDefault();
        }
    });

    function addStyles () {
        var css = d.createElement('style');
        css.type = 'text/css';
        css.innerHTML = format(
            '.{0}{border-collapse:collapse}' +
            '.{0} td{padding:0}' +
            '.{1}:before{content:attr({2})}',
        [
            TABLE_NAME,
            NUMBER_LINE_NAME,
            DATA_ATTR_NAME
        ]);
        d.getElementsByTagName('head')[0].appendChild(css);
    }

    function initLineNumbersOnLoad (options) {
        if (d.readyState === 'interactive' || d.readyState === 'complete') {
            documentReady(options);
        } else {
            w.addEventListener('DOMContentLoaded', function () {
                documentReady(options);
            });
        }
    }

    function documentReady (options) {
        try {
            var blocks = d.querySelectorAll('code.hljs,code.nohighlight');

            for (var i in blocks) {
                if (blocks.hasOwnProperty(i)) {
                    if (!isPluginDisabledForBlock(blocks[i])) {
                        lineNumbersBlock(blocks[i], options);
                    }
                }
            }
        } catch (e) {
            w.console.error('LineNumbers error: ', e);
        }
    }

    function isPluginDisabledForBlock(element) {
        return element.classList.contains('nohljsln');
    }

    function lineNumbersBlock (element, options) {
        if (typeof element !== 'object') return;

        async(function () {
            element.innerHTML = lineNumbersInternal(element, options);
        });
    }

    function lineNumbersValue (value, options) {
        if (typeof value !== 'string') return;

        var element = document.createElement('code')
        element.innerHTML = value

        return lineNumbersInternal(element, options);
    }

    function lineNumbersInternal (element, options) {

        var internalOptions = mapOptions(element, options);

        duplicateMultilineNodes(element);

        return addLineNumbersBlockFor(element.innerHTML, internalOptions);
    }

    function addLineNumbersBlockFor (inputHtml, options) {
        var lines = getLines(inputHtml);

        // if last line contains only carriage return remove it
        if (lines[lines.length-1].trim() === '') {
            lines.pop();
        }

        if (lines.length > 1 || options.singleLine) {
            var html = '';

            for (var i = 0, l = lines.length; i < l; i++) {
                html += format(
                    '<tr>' +
                        '<td class="{0} {1}" {3}="{5}">' +
                            '<div class="{2}" {3}="{5}"></div>' +
                        '</td>' +
                        '<td class="{0} {4}" {3}="{5}">' +
                            '{6}' +
                        '</td>' +
                    '</tr>',
                [
                    LINE_NAME,
                    NUMBERS_BLOCK_NAME,
                    NUMBER_LINE_NAME,
                    DATA_ATTR_NAME,
                    CODE_BLOCK_NAME,
                    i + options.startFrom,
                    lines[i].length > 0 ? lines[i] : ' '
                ]);
            }

            return format('<table class="{0}">{1}</table>', [ TABLE_NAME, html ]);
        }

        return inputHtml;
    }

    /**
     * @param {HTMLElement} element Code block.
     * @param {Object} options External API options.
     * @returns {Object} Internal API options.
     */
    function mapOptions (element, options) {
        options = options || {};
        return {
            singleLine: getSingleLineOption(options),
            startFrom: getStartFromOption(element, options)
        };
    }

    function getSingleLineOption (options) {
        var defaultValue = false;
        if (!!options.singleLine) {
            return options.singleLine;
        }
        return defaultValue;
    }

    function getStartFromOption (element, options) {
        var defaultValue = 1;
        var startFrom = defaultValue;

        if (isFinite(options.startFrom)) {
            startFrom = options.startFrom;
        }

        // can be overridden because local option is priority
        var value = getAttribute(element, 'data-ln-start-from');
        if (value !== null) {
            startFrom = toNumber(value, defaultValue);
        }

        return startFrom;
    }

    /**
     * Recursive method for fix multi-line elements implementation in highlight.js
     * Doing deep passage on child nodes.
     * @param {HTMLElement} element
     */
    function duplicateMultilineNodes (element) {
        var nodes = element.childNodes;
        for (var node in nodes) {
            if (nodes.hasOwnProperty(node)) {
                var child = nodes[node];
                if (getLinesCount(child.textContent) > 0) {
                    if (child.childNodes.length > 0) {
                        duplicateMultilineNodes(child);
                    } else {
                        duplicateMultilineNode(child.parentNode);
                    }
                }
            }
        }
    }

    /**
     * Method for fix multi-line elements implementation in highlight.js
     * @param {HTMLElement} element
     */
    function duplicateMultilineNode (element) {
        var className = element.className;

        if ( ! /hljs-/.test(className)) return;

        var lines = getLines(element.innerHTML);

        for (var i = 0, result = ''; i < lines.length; i++) {
            var lineText = lines[i].length > 0 ? lines[i] : ' ';
            result += format('<span class="{0}">{1}</span>\n', [ className,  lineText ]);
        }

        element.innerHTML = result.trim();
    }

    function getLines (text) {
        if (text.length === 0) return [];
        return text.split(BREAK_LINE_REGEXP);
    }

    function getLinesCount (text) {
        return (text.trim().match(BREAK_LINE_REGEXP) || []).length;
    }

    ///
    /// HELPERS
    ///

    function async (func) {
        w.setTimeout(func, 0);
    }

    /**
     * {@link https://wcoder.github.io/notes/string-format-for-string-formating-in-javascript}
     * @param {string} format
     * @param {array} args
     */
    function format (format, args) {
        return format.replace(/\{(\d+)\}/g, function(m, n){
            return args[n] !== undefined ? args[n] : m;
        });
    }

    /**
     * @param {HTMLElement} element Code block.
     * @param {String} attrName Attribute name.
     * @returns {String} Attribute value or empty.
     */
    function getAttribute (element, attrName) {
        return element.hasAttribute(attrName) ? element.getAttribute(attrName) : null;
    }

    /**
     * @param {String} str Source string.
     * @param {Number} fallback Fallback value.
     * @returns Parsed number or fallback value.
     */
    function toNumber (str, fallback) {
        if (!str) return fallback;
        var number = Number(str);
        return isFinite(number) ? number : fallback;
    }

}(window, document));
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The two effects of this
transaction are:

The double entry rule
says:

Therefore the entries
needed are:

1. The business’s asset of
cash at bank has increased

Increases in an asset
are recorded with a
debit entry

The cash at bank account
must be debited

2. Ravi’s capital has
increased

Increases in capital are
recorded with a
credit entry

The capital account
must be credited






OEBPS/js/script.js
let stylesheet_name = document.querySelector("link[rel='stylesheet']").getAttribute("href").replace("../css/", "")
let question_action_css = ["CANADA_Student-Theme.css", "CANADA_Teacher-Theme.css"]
let question_action = question_action_css.includes(stylesheet_name) ? true : false;
let ShowHideAction_Elements = document.querySelectorAll('.divWidgetShowHide')
let stackedItem_Elements = document.querySelectorAll('.stackitem')
ShowHideAction_Elements.forEach(element => {
    let hide_element = element.querySelector('.divWidgetShowHideAnswerText')
    if (question_action == true) {
        let action_button = element.querySelector('.divWidgetShowHideQuestionText')
        action_button.addEventListener("click", () => {
            hide_element.style.display = hide_element.style.display === 'block' ? 'none' : 'block';
            action_button.classList.toggle("active")    
        });
    }
    else {
        let hide_button_content = element.querySelector('.divWidgetHideActionText')
        let show_button_content = element.querySelector('.divWidgetShowActionText')
        let old_show_button_content = element.querySelector('.divWidgetShowHideActionText')
        let action_button = Object.assign(document.createElement('div'), {className: 'showButton' });
        element.appendChild(action_button)
        action_button.innerHTML = old_show_button_content ? old_show_button_content.innerHTML : action_button.innerHTML = show_button_content.innerHTML
        action_button.addEventListener("click", () => {
            hide_element.style.display = hide_element.style.display === 'block' ? 'none' : 'block';
            hide_element.classList.toggle('active')
            action_button.classList.toggle('active')
            if (old_show_button_content) {
                action_button.innerHTML = hide_element.classList.contains('active') ? "Hide" : old_show_button_content.innerHTML
            }
            else {
                action_button.innerHTML = hide_element.classList.contains('active') ? hide_button_content.innerHTML : show_button_content.innerHTML
            }
        });
    }
});

stackedItem_Elements.forEach(element => {
    let stack_title = element.querySelector(".stackTitle")
    let stack_container = element.querySelector(".stackContainer")
    stack_title.addEventListener("click", () => {
        stack_container.style.height = stack_container.style.height === 'auto' ? '0' : 'auto';
        element.classList.toggle("open")
        });
});
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The two effects of this
transaction are:

The double entry rule
says:

Therefore the entries
needed are:

1.The business’s asset of
computer equipment has
increased

Increases in an asset
are recorded with a
debit entry

The computer equipment
account must be debited

2.The business’s asset of
cash at bank has
decreased

Decreases in an asset
are recorded with a
credit entry

The cash at bank account
must be credited
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INCOME STATEMENT BALANCE SHEET

Also known as the Also known as the
Statement of Profit or Loss Statement of Financial Position

Shows: Shows:
Income earned Assets (things that the business
during the year owned at the end of the year)
minus minus

Liabilities (amounts that the
business owed at the end
of the year)

Expenses incurred
during the year

equals equals

Profit (or loss) The owner’s Capital
for the year at the end of the year






